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 AH-6032

B. A. (Second Semester)

Discipline Specific Core Course (HISC-02)
EXAMINATION, May-June, 2025
" HISTORY

Ancient Indian History
(Form Gupta Age to 1206 A.D.)

Time : Three Hours
Maximum Marks : 70

e : @ue—31 A & f9H 10 IS YR & .
3 Bl foreeh fow 10 of & 99 5 Y WA
JHR & T e, Tl 4 g & forg 4 o7k,
FHA 20 37 B |

Gue—q H 8 quicHd ThR & WA ohl, fored 9
TOF ThE Q. WA o, S 50% STt
fareg 8| TAF & 10 31 B, HA 40 3H
=l

P.T.O.



[2] AH-6032
Scction—A is  compulsory  containing 10
objective type questions of 10 marks and 5 short
answer type questions. carrying 4 marks for cach,
total of 20 marks.
Section—B is containing 8 descriptive type
questions. nvo from cach unit, with 50% internal
choice. carrying 10 marks from cach, a total of
40 marks.
gug—AH
(Section—A)
Frafafaa aagfss gedi & s 1x10=10

Answer the following objective c_ﬁo questions : -
(i) T G2 1 EATYH DA o4 ?
Who was the founder of the Gupta dynasty ?
(i) ‘wam yufE’ & d@d A § 2
Who is the author of ‘Prayag Prashsti’ ?
(iii) 957w fawmfca & MEAR H 9Rd 3T
el Y@ =il fagH [ a1 ?
Who was a prominent Chinese scholar who

visited  India  during  Chandragupta
Vikramaditya ?

[3] AH—-6032

(iv) T %1 & Sfg nfomas &1 9 afe )
Write the name of the famous mathematician
of the Gupta period.

(v) TREGTq™ F1 99 19 °fe fFg oeEw
YA % ST a191 741 41 ?
The Seven Ratha Temple of Mahabalipuram
was built during the reign of which dynasty ?

(vi) I8 I WEE FH 4, 99 wHeds &
forg gg e @1 ?

Who was the Chalukya ruler who fought

against Harshavardhana ?

(vii) TF9 ses =1 fUeifeg & 99 | 5= 5@
€ ?
Which rulers is known as Shiladitya ?

~

(vii))3fF <T@ (sfga) & 9= 31 F <@l

EXCICICERIERGRIECHIC T CRRITIg

Write the names of nvo Rajput dynasties
claiming descent from the Fire God Agni

(Agnikula).

P.T.O.
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cémmﬁn@ﬂ%%maqﬂ@ﬁmﬁms-ﬁ

(x)

TREE WA ?

In which South-East Asian Country is the
world famous Angkor Wat Temple ?

Heqeg a4 9Rd W ferat AR STHAT
foran ?

How many times did Mahmud Ghaznavi

invade India ?

Frefafad T & I eIt (WY W) -

4x5=20

Answer the following questions (Short answer

type) :
() 9= faFAee &1 Sudferi &1 qedish

s

Evaluate the achievements of Chandragupta

Vikramaditya.

(9) GHEEA Y@ 9iefas @kl @1 quid

ST

Describe the literary sources of the Sangam

Age.

~

[5] AH-6032

() TSy F1 sc@afa & fafu= fagrl &1 Sed

(<)

€D

AT : TS THE § Uk W39 & Siag |

hifsT |

Mention of various theories of the origin of
Rajputs.
fdy | qeme fa7 Fifem & smww & SRl

1 U HIfTd |

Discuss  the
Muhammad-Bin-Qasim on Sindh.

T T & 9Rd TSI F qROmH
RSAT HIfT |

causes of invasion of

Explain the results of the invasion of
Muhammad Ghori on India. .
gus—d
(Section—B)
10x4=40

Attempt any one question from each unit.

TaE—I

(Unit—1)

3. THKW i fasrl %1 9o i

Describe the conquests of Samundra Gupta.

P.T.O.
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TehTei wenafTe sgaen faate )
Mention the administrative system of the Gupta
period.

gaRe—I1

(Unit—II)

THIA, ARG Sfaer™ 1 WU 91| e
Fifau | |

Gupta period was the golden period of the Indian
History. Explain.

-

Iod i H UI-Fal $ fa6™ W 9w

eIfaa |

Throw light on the development of architecture
during the Pallava era.

gare—II1
(Unit—III)
BuagA & fawri 1 Seor@ Hifa |

Mention the conquests of Harshvardhana.

8. I <k UIA A W U wierd ey feifm

Write a brief essay on Pal Dynasty of _Wosmm..

(71 AH-6032
TEE—IV
(Unit—1V)
9. WG % <fem-yd ufomr i @ ww gEd &
THieq Fifew)

Review the relation of India with the South-East

Asian countries. .
10. MO ToHEl $ ¥RA W SAHAN ¢ HRO0 U
gfomi =1 9uiF Hifee |

Describe the causes and consequences of the

invasion of Mahmud Ghaznavi on India.

X X X X X

AH-6032
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AH-6002

B. A. (Second Semester)

Discipline Specific Core Course (HNSC-02)
EXAMINATION, May-June, 2025

HINDI LITERATURE

(et et ot Serera- amegfires wvre)

Time : Three Hours

Maximum Marks : 70
Fie : gt JeHl & S eS|

gug—H

1. Trfafaa dgfaseda gei & W SINT
10x1=10
(i) SMYfTE el 1 T e foRE el ?
() TSI

p.T.O.
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(iii)

[2] AH-6002

(@) =/ TE< g

(M) TeRivER fgad

(o) fasEy

o] Al gRI W U -9 ® .v. c,
() IFHIR |

(@) =gehiar Hafa

() e 1 fearet

(9) AR T el

THfd w1 GEAR HfE fFQ FE oSm

g2
(%) ghram<a 9

(@) STITH g

(1) wERE 9

(¥) gdhra et e’

[3] AH-6002

(iv) Tearet g = A fraes 9 9T gl ?
(%) gaRIgERE fged
(@) AT fgersd
() wrifafy= fgaet
(%) wErERyER fgae
(v) TR S e < T e g A ?
() 3=
(@) T
(1) HRd
(&) =t
(vi) T o' e F Fw FE 7
() STARIF TS
(@) feram
(1) =rgeR I e

(&) mﬂaa

P.T.O.
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[4]

(vii) ‘TIRA’ & AR %1 9 fafaa :

() H2i IH=Eg
(@) HHER IRl
SO BRSEETS LI

(9) sargar fgad

(vil)* 38T Y e frer ferel ?

(i

X)

(F) TR T

(@) ¥R,

(1) rRrEr e

(%) SRR =% HG
femafor’ for faren @ Grafeem T E 2

() I 1A
(@) THIH!
() eH

(u) fay

2. Frefafen wwi & wiuw sw I :

5%x4=20

(%) TG FE F TR FE@ A

™ 7
(@) TEER H & ferma fafen)
() T e 1 & ferrea feta

e |

FORCOR I I U

(o) it e F IR e T

®?

P.T.O.
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gugs—d

e : Ffafed i
&1 s oAl 1 g HISL | TR 7. iR W e G 3
.mﬁnmﬁmm—ﬁ.m@

TS @ T YT o HTN AFEE € : 4x10=40 fermaeti 1 sera #ife )
ﬁ%l— | . AT
3. A g H wifefash faREAeT W e & | 8. WHHE Hiad =1 €2 wd faun #1 s e |
I : _ TEE—IV
o 9- w&ﬁ%wﬂﬁﬁgﬁ%%_
S E] A
4. *m&ﬁﬁﬂm%,ﬂﬂﬂﬁﬂa&m 10. ST YOE & W@ TEH F s 6 g
fray fafea | Y ATl T THR S |
.m.ﬂ_m,.lm—  xxxxx
5. w&%ﬂd&aﬁaﬂﬂﬁﬂ%ﬁ,
arerar
o wrEEd FEEdE 9 s W H e | _
11,340

Zifat | AH—-6002
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AH-5612

B. A. (Second Semester)

Discipline Specific Core Course (HOSC-02T)
EXAMINATION, May-June, 2025

HOME SCIENCE
(Extension Education)

Time : Three Hours
Maximum Marks : 70

HiZ ;. 9l geHl & K SIS

Answer all questions.

|us—31
(Section—A)
1. Frefered oegfs w ® SW AR 10x1=10

Answer the following objective type questions.

@) o forem # feran <t S ®
(37) =

pP.T.O.
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[2] AH-5612

(&) SHg=EEh
(=) 2R (31) 3R ()
(3) Srdaa H A B T

Study in Extension Education is:

(@) Formal

(b) Informal

(c) Both (a)and (b)

(d) None of the above

T TaenTa Ufto w1 S7eae] BiaT ©

(37) HEEET

(=) Tegafa
(H) ST AN

(2) I9dd # A HE Tl

Chairman of National Development Council is :
(@) Prime Minister

(b) President

(¢) Lok Sabha Chairman

(d) None of the above

[31] AH-5612

(iii) e & gaifus 7= fagr

(iv)

CHIRIEEEERD
() SreTdA <Al
(F) TRE A
(T) S &l

The famous principle of learning is of :

(a) Throndike

(b) Tolman

(c) Gestalt

(d) Dalton

grfes At & w9 foew yor = R

Forerd TR e ©
(a7) Tomdifsrm
() TR
(®) Y @
(]) ®RA

P.T.O.
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[4]

P discussion in which every

A type of grou

_ in topic :
person speaks on @ certain top

(a) Symposium
(b) Seminar

© Pannel Discussion

The headquarters of World Health

Organisation is situated in :

(@) Paris
(b) Geneva
(¢) Rome

~(d) Washington

[5] AH-5612
@rett TH 9
Fill in the blanks :
(i) TE P R faen w5 it T
T, Tt AR F T o e fa ¥

............. method is the cheapest, simple and

fast method of home science extension

education.

(vii) TR WRTEA & $T=ia TEEA B!
There are ............. posts under extension
administration.

eii) 798 H E g @ REm F a
E.mﬂ.uﬂdﬂd mﬂ o w_

The name of university situated in Mumbai
for home science teaching is ............... ;

Amxv O}Hﬂmﬁ.ﬂ—ﬂ:ﬂﬁ ....................... W._
Full form of CARE is ................

Axv .@.—ﬂ. .ﬂm.. mME. -mm.ﬂmﬂ. m.w._. .@@H—ﬂﬂ. ..................... .m
T

The headquarters of Food and Agricultural

Organisation is situated in .................. .

P.T.O.
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[6]

2. o SO W 5x4=20
| Aqar
Short Answer Type Questions :
(a) T faum & fafi= &= St W TR (Or)
4. GGR Il o T 1 U Hifo |

Make the structure of different areas of Home
Explain the qualities of Extension Workers.

Science.

(b) IrRIaS fawra & fagrl & guzmEy | 2
Discuss the principles of community ,
development. (UNIT—2)

(c) WIE i Wiswan w1 ol ity 5. gfaw feied w feE= RafaT

) WMMMMM:MAMMQMMMMMM% I | Write an essay on Family Planning.
Write the importance of Audio-Visual Aids. | MMM:.

(e) U9 HeAH B TOI T qUI HIFT |

Explain the qualities of a good evaluation.

6. TTH FURRT B RO QW HI T S H1 A0

Gue—a i |
(Section—B) | Describe the causes and preventive measures of
RCER S E 9 Teh J¥7 & HifSQ ) 4x10=40 Rural Indebtedness.
Attempt one question from each Unit. | THE—3
—1
ELgE | (UNIT—3)
(UNIT—1) ,
. T Ta wevid freor fafidt =1 9o wifsa)
3. & a9 & SRt @7 quiy HIfTT | N &
Explain the lecture and demonstration teaching

Describe the goals of Home Science.
methods.

P.T.O.
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3gar
(Or)
8. frmfafen w fewmfirl fafe :
(31) fava e |ira
() ifera we fora damd
Write notes on the follovs;ing .

(a) World Health Organization (WHO)
(b) Integrated Child Development Services ICDS

FEE—4
(UNIT—4)
9. TR foren & fagra wd Ry F1 vl BT

Explain the principles and objectives of Extension

Education.
3qar

(Or)
10. ¥9 Td 9157 WY 1 (L0 IS |

Describe the classification of Audio-Visual Aids.

XX X XX

AH-5612 540
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AH-5822

B. A. (Second Semester)

Discipline Specific Core Course (ENSC-02)
EXAMINATION, May-June, 2025

Note : (1)

(i)

ENGLISH LITERATURE
(History of English Literature)
Time : Three Hours
Maximum Marks: 70

Section—A contains very short questions of
one mark each (10 objective type questions

of 10 marks) and 05 short answer type
questions carrying 04 marks each.

Section—B containing long descriptive type

question from each unit with internal choice

currying 10 marks for each, total of

40 marks.
P.T.O.
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Section—A
Attempt all the following objective type questions

10x1=10

(i)  Who fought each other during the hundred
years war ?

(@) Spain and France
(b) mzm_m:amza Spain
(¢) - France and England
(d) Germany and Spain

(i) Which year did the Black Death started
spreading in England ?

(a) 1347
(b) 1348
(c) 1349
(d) 1350

(ili) The term ‘intellectual rebirth’ is used in the
context of :

(a) Renaissance
(b) Reformation
(¢) Humanism

(d) None of the above

(iv)

)

(vi)

[31] AH-5822

Puritan Age is also known as the age of .
(a) William Shakespeare

(b) John Donne

(¢c) John Milton

(d) John Keats

The Restoration Period was also called the
age of :

(a) Reason and Science

(b) Religion and Faith

(¢) Tradition Monarchy

(d) Mysticism and Creativity

The Mock-Epic ‘Rape of the Lock’ is written
by :

(a) Joseph Addison

(b) Thomas Gray

(c) Alexander Pope

(d) Oliver Goldsmith

(vii)) Who greatly contributed to the rise of the

periodical essay ?

(a) Addison and Steele

(b) Gray and Goldsmith

(¢) Alexander Pope and Ben Jonson

(d) None of the above

P.T.O.
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(viii) The word ‘Gothic’ refers to :
(a) Romantic
(b) Modern
(c) Medieval and uncouth
(d) Classic
(ix) Who is the author of ‘The Waste Land” ?
(@) Samuel Beckett
(b) T.S. Eliot
(¢) Rudyard Kipling
(d) George Orwell
(x) A Dramatic Monologue involves :

(@) A single speaker addressing silent

listener
(b) A single speaker and no listener
(c) Involves two speakers
(d) None of the above
Write short notes on the following : 4x5=20
(a) Spread of Black Death
(b) Elizabethan Lyrics and sonnets

(¢) Metaphysical poetry and poets of the Puritan
Age.

[5] AH-5822

(d) What was the main focus of comedy of
manners in the Restoration period ?
(¢) Stream of consciousness and interior
monologue technique.
Section—B

Note : Attempt any one question from each unit.
4x10=40

Unit—I1

3. What is the theme of the ‘Knights Tale’ by

Geoffrey Chaucer ?

Or
In his essay ‘Of Revenge’ what has Francis Bacon
to say about the nature of revenge and its relation
to justice and law.

Or
Give a critical appreciation of William
Shakespeare’s sonnet “From the Fairest Creatures
We Desire Increase.”

Unit—II

4. What is the universal message John Milton intends

to convey in ‘On His Blindness’ ?

P.T.O.
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Or
What is the message of John Donne about death in
the poem “Death Be Not Proud” ? How does he use
faith to challenge the fear of death ?
Or
Write critical appreciation of ‘Happy The Man’ by

John Dryden.
Or
Give an analyzed summary of the poem ‘Of the
Boy and Butterfly’ of John Bunyan.
Unit—III

Critically appreciate Alexander Pope’s ‘Ode On
Solitude.’
Or

Write a word picture of Sir Roger as conveyed by
Joseph Addison in his essay ‘Sir Roger At Home.’

Or
Describe the beauty of nature expressed by William
Wordsworth in ‘Daffodils.’

Or
Discuss the autobiographical note in Charles
Lamb’s “A Bachelor’s Compliant of the Behaviour

of Married People”.

6.

(71 AH-5822
Unit—IV
Critically analyse the poem “A Prayer for My
Daughter” by W. B. Yeats.
Or
Elucidate on the theme of the poem ‘Portrait of a
Lady” by T. S. Eliot.
Or
Critically examine Thomas Carlyle’s ‘Hero as
Poet’.
Or
Discuss ‘Animal Farm’ as an allegorical political
satire.
Or
What traits of the Duke and the Duchess
personality are reflected in the poem ‘My Last
Duchess’ by Robert Browning ?
Or
Give a critical analyses of “The Lotus Easters’ by
Alfred Tennyson.
Or
Bring out the melancholiac note in ‘Dover Beach’

by Matthew Arnold.
X X X XX

AH-5822 580
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AH-5672

B. A. (Second Semester)
Discipline Specific Core Course (ECSC-02)
EXAMINATION, May-June, 2025

ECONOMICS :
(Basics of Indian Economy)
Time : Three Hours

Maximum Marks : 70
Sz . geft geAl & S AT |

Attempt all questions.
|ug—AH

(Section—A)

1. 'ﬁwﬁ’@ﬁa@ﬁﬁamﬁ%waﬁm: 1x10=10

Answer the following objective type questions :

P.T.O.
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(i) WRA F geeh gaFuid AsHr (1951-56) 1

(ii)

rerfien ey 1 91 ?
(1) it

() Ff fawe wd fa=r
(%) srefeeTaree 1 SR
(%) W

What was the primary objective of First Five
Year Plan (1951-56) in India ?

(a) Industrialization

(b) Agriculture development and Irrigation .

(c) Liberalization of the Economy

(d) Urbanization

ife ST 1 TG 9RA H e B E oA ?
(1) 01 S, 2015

() 01 31, 2015

(®) 01 fgg=R, 2016

() 04 S[eTE, 2016

(iii)

[3] AH-5672

When was the NITI Aayog established in
India ?

(a) 0l January, 2015

(b) 01 April, 2015

(c) 01 December, 2016

(d) 04 July, 2016

2011 FI SFEIOMAT & STER 9Rd ¥ fF9 T

I WAl R T Afes 41 2
(1) B

(F) g

(9) Hereg

(%) Tien

According to 2011 census, which of the
following states had the highest literacy rate
in India ?

(a) Kerala

(b) Tamil Nadu

(c) Maharashtra

(d) Goa
P.T.O.
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(iv) zﬁm%ﬁﬁﬁ&%ﬂﬁamémﬂ_

W)

57 JSTTR TS HH F TR At § 2

(37) WS ST sl

() FErEn T U wEH ISR M
s (MGNREGA)

(Q) STFHA 9RA Al

(3) fera sfean A faem

In India, which one of the following Schemes
guarantees to provide 100 days employment

in a year ?
(a) Pradhan Mantri Awas Yojna
(b) Mahatma Gandhi National Rural

Employment Guarantee Act
(c) Aayushman Bharat Yojna
(d) Skill India Mission |
I # F % ST w1 HRE

(37) Sl T TAIfeF STHR

() o F T

(%) 3fea & g =ifa =1 s9mE
(%) 3wd weit

(vi)

[5] AH-5672

In India, reason for the Backwardness of
Agriculture is :

(a) Non-profitable size of land holdings

(b) Indebtedness of the farmers

(c) Absence of suitable agriculture price
policy

(d) All of the above

Srefeedl & /RIS a1 Ads: G’ 1991

% Uie J&d R0 1 91 ?

(37) TR | | gfg

() AEYTF TGS BT gl HAd

(/) A Fger Sl Hhe

(3) Sudaa ast

What was the main reason behind the

Liberalization policy or Economic reforms
1991 ?
(a) Increase in Fiscal Deficit

(b) Rising Prices of Essential Commodities
(c) Balance of Payment Crisis

(d) All of the above

P.T.O.
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[71 AH-5672
(vii) STEIRETRIT TIHIRT w1 Sl ¥ 7 m Which of the following options is the
(37) 15 64 T 1 Frfvfier smEEn objective of Industrial policy 1956 ?

PP . (a) Development of Co-operative sector
(9) 096 SEHEEAT

{b) Extension of Public Sector
() 14 40 T H | (c) Development of Heavy Industries
(T) 60 I8 | Ifureh I SHEEA (d) All of the above

(ix) Frefafea # @ &9 & g fom SEHd

?

(a) Working population in age group of 15 X
to 64 years . | (1) TEE AT S5
(b) Population in age group of 0 to 6 years

What is Demographic Dividend ?

| (@) S e 98

(c) Population in age group of 14 to 40 years
” (§) ST AHO S5

() qat=t T S5

(d) Population aged 60 years or more
viiyfr=fafes # § wF-@ faoeq 1956 =t
- Srenfires Afa w1 eI ® ? . Which one of the following is a microfinance

(=) - - scheme ?
(%) wesfE & %1 R
(/) Rt Sevil 1 fasm

(a) Regional Rural Bank
(b) Self Help Group
(¢) Chhattisgarh Grameen Bank

() o welt (d) Poorvanchal Grameen Bank

P.T.O.
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() oY W H{ER IAN H GEESA FHqUA.
HifSIT |

Describe the problems faced by Small and

[8]
(x) Frefofen 3§ § SH-91 SR AT ?

(37) & & =g NN m

(<) widl & sit= AR :

| Cottage Industries.
(W) < & st =R | (Q) @i & TEE YRAE  seferEem &6
(%) Suder |t h fardroranadi =) =me s

Which of the following is International Explain the features of Indian Economy at the

Trade ? -time of Independence.

(F) 9a # Nl H YIE FRO W A
fafe)

Write a note on the main causes of

(a) Trade between Regions
(b) Trade between Provinces

(c) Trade between Countries
* unemployment in India.

(d) All of the above _
2. Freiferfien Wi @ ST ARG (T ST ) (1) f GUR HEHA & TRAE F W 996G R
T |

4x5=20
Explain the effect of Land reform program on

Answer the following questions (Short answer type
Indian agriculture.

questions) :

. . LTus—d
(31) 1991 i S¥Eifiep ifd R wiwa feogon
fafem | : (Section—B)
.. T : TS THE Y DI Teh A & DI 2 10x4=40
Write a short note on Industrial Policy of .
1991. 4 Attempt any one question from each unit.

P.T.O.
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gRE—I

(Unit—I)
G H A emfy # g W T e
TR FAT |
Critically evaluate the progress achieved during
planning period in India.

e
(Or)

4. 7T STET TN ? T IRy T WS P ol
Hifora

What is NITI Aayog ? Explain its objectives and

organization.

Fhs—II

(Unit—II)

5. émmﬁ@m@%mﬁ&ﬂﬂg%ﬁ
T ST ﬂw@ﬁﬁ%%@ﬂ@ﬁﬁmﬂmﬂ

€

?

.

Discuss the causes of population growth in India. Is
Increase 1n population an impediment to economic
development of India ?

/

[11] AH-56
Agqar
(Or)
9T F P A ¥ 2GR R T T g
e e W S ferfe | |

What is Nutrition ? Write a note on major

nutritional programmes launched by government.
BeRTe—II1
(Unit—III)
e wifd § w1 Y™ § 7 S9! F SqarteEr
T STHRAE @ § 2

What do you understand by Green Revolution ?
What have been its achievements and failures ?

argar
(Or)
A | F fox ot arafas gEenst H qeEEd |
iy for w1 feafa =61 gura & fog g St

Explain the real problems of Agricultural Finance

in India. Give suggestions to improve the condition

of agriculture finance.
P.T.O.

s



9.

10.

{12} A ~DO 7

gs—IV
(Unit—IV)

91 & anfter faerr iR ASFIN Seq=1 i H e,
agaﬁwwnaaﬁi(@@mé)%mmw
HifST | |

Discuss the significance of Micro, Small and
Medium Enterprises (MSMEs) in fostering
economic development and employment generation
in India. |

areraT
(Or)
T & feyl SR &5 S 9 IR e
FAifai = e ?

What are the challenges for India’s foreign trade
sector in the medium and long term ?

X X XXX
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AH-5792

B. A. (Second Semester) Discipline Specific
Core Course (PSSC-02)
EXAMINATION, May-June, 2025

POLITICAL SCIENCE
(Constitutional Government in India)
Time : Three Hours

Maximum Marks : 70

gug—3H
Section—A |
Hrz ;. frefafed g WA % SW e : 10x1=10
Answer the following objective type questions :
(i) T | WeH 93 kel g% 7
(31) 9 SFFI, 1945

P.T.O.
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(|) 9 T, 1946

() 9 fegar, 1946

(%) 10 fgEaR, 1946

When did the first meeting of the Constituent
Assembly take place ?

(a) 9 October, 1945

(b) 9 November, 1946

(¢) 9 December, 1946

(d) 10 December, 1946

(i) ¥R diaem #1 23t STy fheq dafaa
g2
(37) YT & Al 9
(9) TR &t AfH q
(9) YR s §
(F) Tl A S &5 & yered 9
What does the sixth schedule of the Indian

Constitution relate to ?

(a) By the power of Panchayat

[3] AH-5792

(b) By the power of the municipality
(¢) From Indian languages

(d) The administration of tribal arcas in the

states.

(iii) W Frraforsh foraeh wfd Sweer & & ?

(1) garEEs & id
() Tegafa % wid
(|) HEE & <A & FeAl 6 qfd
(g) rhaH & qfd

To whom is the federal executive

accountable ?

(a) To the Prime Minister

(b) To the President

(¢) Both Houses of Parliament

(d) The Lok Sabha
(iv) W # S T@. & Fa Y g g 2
(21) 1 3T
(@) 1
(|) 1\

(g) 15
P.T.O.




(v)

[4] AH-5792

When did GST become eftective in India ?
(a) 1st April

(b) st July
(¢) 1st March

(d) 1IstJune

I EId % ARt w1 g e
HA® W HT Sl § 2

(31) 9YFH

(F) == fafa ==

(9) ¥d & &I et

(T) He=EaR]

On whose advice are the Judges of the High
Court appointed ?

(a) Prime Minister
(b) Union LLaw Minister
(¢) Chief Justice of India

(d) Attorney General

[51] AH-5792
(vi) 3IW 9e9 faummw & "o 1 e fea
97
(31) 243
(a) 295
(|) 299
(2) 403
What is the number of members of the
Legislative Assembly in Uttar Pradesh.
(a) 243
(b) 295
(©) 299
(d) 403
(vii) Ffaam & T59 9= g0 SRa & A0 &l
JIE AAIYSR JCH a1 T & ?
(3H) =R 325 :
() AT=R 326
(F) AT=R 327
(]) 3TT% 328

P.T.O.



[6] AH-5792

By which Article of the Constitution adult

franchise has been provided to the citizens of

India ?

(a) Article 325

(b) Article 326

(c) Article 327
32

(d) Article 328

(viii) 9T K1 3Tufafd § 3§ 98 1 9 T80
FET ?

(31) Teeufa

() 9YFHH

(9) v

(T) 3= <A 1 & <At

Who assumes the office of the Governor in

his absence ?

(a) President

(b) Prime Minister

(c) Chief Minister
(d) Chief Justice of the High Court

[7] AH-5792

(ix) WA < ogdam fAaee @ geeandies S

s

€7

(1) Tsira wefd
(=) frdren =iz 7,
(F) iferehia 2
(]) g wfd

Who is the current Comptroller and Auditor
General of India ?

(a) Rajiv Maharshi

(b) Girish Chandra Murmu

(c) Shashikant Sharma ?

(d) Sanjay Murthy

(x) T SRITEA 1 HE § ¢

(37) W =1 ThA™ HE
(=) W T @

() TS HIA

(T) T | FE T

P.T.O.



2.

[8] AH-5792

Itis a function of Local Self Government :
(@) Preventing Discases

(b)  Increasing Discases
(¢) Fight

(d) None of these

?ﬂ@ﬁmﬁ&%mﬂ%@fﬁ@%uﬁv :

Answer the following questions (Short answer type

questions) :
() WIS 1 Ffaem § 927 qee § 2

What is the importance of the Preamble in the

Constitution ?

(b) AR & HifeTw Haedi T Fa=y |

What are the fundamental duties of citizens ?

(c) HRd % AfAHSH *T fa¥reand fafaa |

Write the characteristics of the Cabinet of
India ?

(d) HH ¢k FaT 3G $ 9- F1 Gy |

Mention jfour functions of Union Public

Service Commission.

5x4=20

(9] AH-5792

(©) et & fafa faa wor o ¥ o
HHARY |

Explain, how the
appointed.

gug—dq

Section—B

e : TAH I8 | DS Ueh YA B HITI 4x10=40

Attempt any one questions from each unit.
T —1
UNIT—I
YR WiTEM & Y@ Hidi 1 U SIS |

Describe the main sources of the Indian

Constitution.

3TeAdAl

(Or)
T % Hifa Frdvr el 1 e Hife |
Evaluate the Directive Principles of State Policy.

P.T.O.



1 .//\
[10] AH-5792 (1] AH-5792
Agdr
sEE—I11 |
i (Or)
UNIT—II o s B )
N _ 8. H= 9 T=a & fa<drg gast =1 fag=mn T
5. e = Tt S wfwE T e e S . . .
: Discuss the financial relations between the centre
Describe the powers and functions of the President m and the state.
of India. . wm...ﬂwl_/\
| UNIT—IV
37AAT
9. dﬂ%@ﬁ%%ﬁﬂm%ﬁmﬁ%@f
(Or)
Describe the organisation and powers of the State
a & el =ArETerd H { T SEIREINE Council of Ministers.
fere=gm SIS HIE
(Or)
Discuss the structure and jurisdiction of Supreme . - .
: g 10. %ﬁﬂ%iﬁﬁ%%ﬂmﬁ%@
Court of India. .
e —I11 Describe the formation of Municipal Corporation
and its functions.
UNIT—III

X X X X X

YR frater qomrel o oI-3ri w1 SR hifsd |

Explain the merits and demerits of the Indian
AH-5792

electoral system.
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AH-5702

B. A. (Second Semester)

Discipline Speciﬁc Core Course (SOSC-02)

M :

EXAMINATION, May-June, 2025

SOCIOLOGY
(Changing Social Institutions in India)
Time : Three Hours

Maximum Marks : 70
gt 999 & e A ¥ 1 U ) @l |
faofera ¥1 @ve ‘o' A Txgie T oy S
g7 ¥ | Tue ‘e § @ iy we ¥

All questions are compulsory. Question paper 1s
divided into two parts. Section ‘A’ is objective
type and short answer type questions and Section

‘B’ contains long answer type questiofs.

P.T.O.



R
[2]

AH-5702
(3] AH-5702
WUg-37
First mention of Varna system is found in:

(a) Rigveda

(Section—A)

1. wﬂ@aﬁmﬂmﬂﬁﬁﬁiﬁiﬂu

(b)  Yajurveda
10x1=10
Answer the ?:s;.m:m objective questions :

(M wﬂm&a%%ﬂuﬂm%ﬂﬁ%ﬂﬁ

(¢) Atharvaveda

(d) Samaveda
A (i) YT | S F W9 R S
(37) , .
(F) =g |
AR A2
(J) =1 g
(%) Ay

() ==
According a Hindu philosophy what is the

ultimate objective of human life ?

() L.
(a) Dharma () TH.TH.TE.HL
(b) Artha _ . ,
. 3a IS res ble for
() Kama Which institute in India is responsible
(d) Moksha , & measuring unemployment in India ?
- (o .?ﬂd._. .v
(il) SO S %1 FA9 AT Soore Fef () RB.L
Aﬁvﬁ/ﬁmm_ (b) CB.L
= (©) UGC
(9) HAGa
() 9

(d) NSSO

p.T.O



(4] AH-5702
(iv) ¥RAE Woq & SHaR "rd Shad &1 fFm
el F Fier Ty 2
(37) =
(D QA
(|) =
() IR
According to Indian tradition human lifespan
is divided into how many Ashrams ?
(a) Three
(b) Two
(c) m.?o
(d) Four
(v) 9Ra ¥ T e &1 fAuRko g emur w

fofan smar & 2
CEE
() =
(9) #d fegg
(T) el T&w

(5] AH-5702

On what basis is the poverty line determined
in India ?

(a) Income

(b) Expenditure

(¢) Working days

(d) Calorie intake

(vi) TgeRTE aa fagesia w=est fHay g6t

T2
(31) gfEr =1 fam
() SR F @
(9) foarE =t yhia
(%) foeme §=
Matriarchy and Patriarchy terminology are
related with :
(a) Family Residence

(b) Line of Inheritance

(c) Nature of Marriage

(d) Structure of Marriage
(vii) o § | S T8 F 3R € ?
(%) fom <dis

P.T.O.



[61] AH-5702

() 39 R\ R Wiy arsi
(9) 9iER & gy

(R) wen feen @ wigurf

Which one is an example of a group ?

(a)
(b)
(©)
(d)

Movie audience

Passangers waiting at railway station

Members of a family

Candidates taking examination

(vili)' FAIRH 7 STsaH fore Weifeg & 2
(37) foame |
() fEr
(=) wfa
(T) iRy

‘Kanyadaan’ ritual is related with :

(@)
(b)
(©)
(d

Marriage
Family
Caste

Kinship

[7] AH-5702

(ix) ..ﬁﬂm_wmﬁiﬁw_:ﬁwﬂﬁw”

x)

() =1 "Rt =7y
() 9 Jax =77

(|) 31EA gEW i
(B) 9E 1

“Religion is opium of the masses.” Whose

statement is this ?

(@) Karl Marx

(b) Max Weber

(¢) Emile Durkheim

(d) Parsons

f=fafae 4 9 fva Qo =1 999 anfo
form A= T ?

(1) qLeAsuE. 96
(&) T.9R.TA.TH.

(9) v staq faem

(F) S F=el, ¥ g

P.T.O.



- —

-

(8] AH-5702
Which of the following is not associated with
rural development ?
(a) P.M.GS.Y.
(b) N.R.L.M.

(c) Jal Jeevan Mission

(d) Beti Bachao, Beti Padhao
2. Tyetatad 93E & S eIt (Y 39d)
5%4=20

Answer the following questions (short answer type) :
(37) TEEA SNHH Y AT F T € 7

What do you understand by Grihastha
Ashram?

Amvmﬂ%%ﬂww%%

BREIERY

What do you understand by Jajmani System ?
Explain with example.

(9) T Yg9q & HEA HRO Farsd |

Explain major causes of rural migration.

(%) TR YUY F TIE@ YR aGdisy |

What are the major types of cyber crime ?

AH-5702 .
3
Explain urbanisation in detail. w
guz—4a _
(Section—B) w
e : TIF TFE 9 Ush ¥99 30 HIAL| 4x10=40

Attempt any one question from each unit.
TEE—I

(UNIT-I)

T 5 fagra F1 IaEensE =eA gl

Explain theory of Karma sociologically.

TaT
(Or)

g =7 Giy™ § ¥R a5t |

Write definition and features of caste.
g —I1
(UNIT-1I)

far 1 wE fodmard 991 ¥R SaRe

Write major features and types of family.

P.T.O.



[10] AH-5702

arerar
(Or)
Emﬂﬂﬂgm@ﬂwﬁﬂ@ﬂ%ﬂ&ﬁﬂ@
|

Explain the contemporary changes taking place in
the institution of marriage.

THRE—II]
(UNIT-111)

g&ﬁﬁﬂgﬂwﬁdﬂ@_ﬂ?ﬁ

Write in detail about problems of peasants.

Expalin  about major plannings of rural
development.

FHEE—IV
UNIT-IV
TSl & RO 9 IYIR Fq1ET |

Write about causes and remedies of poverty.

[11] AH-5702
A
«33

10 zﬁwwﬂﬂuwﬁmgﬁmﬁiﬁ_

AH-5702

X X X x x

12,330




RoIl NO: ciecscsescscecsans AT

AH-5502

B. A. (Second Semester)
Ability Enhancement Course (AEC-01)

EXAMINATION, May-June, 2025
ENVIRONMENTAL STUDIES
Time : Two Hours

Maximum Marks : 35
e : 9ot YTl & S SN

Attempt all questions.

gug—3H
(Section—A)
1. TreAfafed g 7l & SWENT . 5x1=5
Answer the following objective type questions :
(i) e oo & sTSifaes v F & ?

What are . the abiotic components of

ecosystem ?

P.T.O.



(2] AH-5502
(i) @ Jaen 8 2
What is the food chain ?
(iii) 7T YEWU & &I Wid I % ?
What are the main sources of water
pollution ?
(iv) T =1 TorEst 1 A9 fRE a9 g feRa S
€7
Water quality is measured by which device ?
(v) S FgEU FI Th JEA Thdeh HHE-E
geTsia § ?
Which microorganism is the main indicator of

water pollution ?

5. FreAfefaEd g & SO i (A STE)

5%x2=10
Answer the following questions (short answer

type) :
@) Safafdear & frad JFR Ed € ?

How many types of biodiversity arc there ?

(3] AH-5502
(i) Telaa arfém wn % 7
What is the global warming ?

(iii) =fafsd %1 o & fou fFm 730 =1 393@m
fFa s g 7

Which unit is used to measure
turbidity ?

ciﬂﬂ@@ﬂu%uﬁwﬁﬁwmﬂﬁﬂmﬁ

What are the factors affecting
biodegradation ?

(v) ffEfis % B o= WS WO
€2
What are the different trophic levels in an

ecosystem ?

P.T.O.



[4] AH-5502
gus—d
(Section—B)
T : FAF TR Q fordft wan oA H1 vt FHifw
4x5=20
Attempt any one question from each Unit.
GO |
(Unit—I)

3. YR & Jfqw "gehl &) gIEu|

Describe the biotic components of

environment.

arerar
(Or)
4. SO-Y-THEFEH  @F K SEYRM
AT |

Explain  the concept of bio-geo-chemical

cycle.

[51] AH-5502
ECOre ||
(Unit—IT)
9 YeWw d ¥ ? THe fEEw & s
EGIEy

What is Air Pollution ? Explain its control
measures.

areran
(Or)
STy, IRed i qHEET | e WK

Describe the climate change.
g —III
(Unit—III)
firedl ) S T TR I =
Explain the composition and types of soil.
Al
(Or)
AU T &R h1 FHAEY |
Describe the salinity and alkalinity.

P.T.O.



9.

10.

[6] AH-550,
ECOEE AY
(Unit—IV)
wo T wOFERT E ae gany ED)
ARy |
Explain the microorganism controlling water
pollution.
SHAAT
(Or)
SEfFE ¥ ? T S{EuReT W)
HHHARY |

What is  Biodegradation ? Explain its

concept.

XX X X X

AH-5502 16,450
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AH-9001

B. Sc. (Home Science)/B, . (Maths)/B. A/
B. Com./B. B, A./B. C. A, (Second Semester)

Generic Elective Course (BOGE-02)
EXAMINATION » May-June, 2025

BOTANY
(Microbes and Thallophyta)
Time : Three Hours

Maximum Marks : 70
e : Ity B T E"h%rq |
Answer all questions.
Gug—3H
(Section—A)
1. frafafad aegfes o & s AT :  10x1=10

Answer the following objective type questions :

() Frefafan # @ #- wie o Fea 3
<t g et 1 ¥ 2
(31) Sitary

P.T.O.




(i1)

(21 AH-9001
() ar™
COIRIEIS

(]) &deh

Which one of the following is connecting link

between living and non-living ?

(a) Bacteria

(b) Viruscs

(c) Algae

(d) Fungi

ffefag o @ freem Swam 9iH & ®9 H

fra S e ?
CONIEL
()
CIRIELS
(]) hdsh

Which of the following is used as food ?
(a) Bacteria

(b) Viruses

(c) Algae

(d) Fungi



[3] AH-9001
(iii) HEH FTE ?
(31) Sfternyy
() =Ry
(9)
(2) HaH
What is mushroom ?

(a) Bacteria
(b) Viruses
(c) Algae
(d) Fungi
(iv) YR FE S ¢

(1) St |
() aR—RE 9

- (9) YaE |
(]) 9% 9
Wine is prepared by :
(a) Bacteria
(b) Viruses
(c) Algae
(d) Fungi

P.T.O.



[41] AH-9001

v) q@@mm:ﬁw@%mmﬁmﬁ%?

(vi)

(31) SftEm]

(9) IERE
(9) I
(T) hdh

Nitrogen is fixed usually by which ?

(a) Bacteria

(b) Viruses

(c) Algae

(d) Fungi

S aE e & WG TN o g, AW

1 el I T ?
CHEIEL
(&) g
CIRIES

G EED



[5] AH-9001
When fungus is combined with algae they are
called :
(2)  Bacteria
(b) Lichen
() Algae

(d) Fungi

(vii) ST hae et § gt iR @feil & STereiyol
% fou 3= Dl 1 TSt A ST B |, 1
JSTE i T HEl ST § 2

(31) Sitary
(9) WA
(|) RIS
(]) &

When fungus is associated with roots of
higher plants for absorption of water and
minerals from soil, their association is called :

(a) Bacteria
(b) Lichen
(c) Mycorrhiza
(d) Fungus
P.T.O.




- 1
(6] AH-900

(viii) FasTupai w1 srezrm HEeT © ¢

(ix)

(37) HghIrsit

() TSt

(®) RISt

(]) hIERIATS

Study of viruses is called :
(a) Mycology

(b) Virology

(c) Bacteriology

(d) Phycology |
S5 1 eI FeAl © ¢

(37) TSIt

(&) arEdrsi

(|) SRR

() WIS

Study of Bacteria is called :
(a) Mycology

(b) Virology

(c) Bacteriology

(d) Phycology



(7] AH-9001
(X)  SEHT &1 A Hgarar §
(31) MAHYATS
(|) srEgarars
() SFAfEars
(%) TwrERIALST

Study of Lichens is called :
(a) Mycology
(b) Lichenology
(c) Bacteriology
(d) Phycology
). frefafad o STa Tl & W Sl
4x5=20
Answer the following short answer type questions :

(21) 3. T, dl. ) qEHTEA

Ultrastructure of TMV
(q) it &y faear

Elementary idea of Bacteria

P.T.O.




[8] AH-9001

() UiEl & & SHTEL
Amphibians among plants

() el A wdyy

Reptiles in plants

Qug—d

(Section—B)

\
lc ¢

3.

Jesh THTE W FIE Teh YA & SiISC | 4x10=40

Attempt any one question from each Unit.
TR

(UNIT—1)

TS ITATSHT S SHAHRI R T 9d fafe |

Write an note on the concept of Mycoplasma.

3rerar
(Or)
frefafeg w diya femfrr fafey .

Write short notes on the following :

(37) TAH st Yhid

Nature of viruses



[9] AH-9001
(F) Sfremosit 7 g
Structure of bacteria
THRE—2
 (UNIT—2)
4. I Uitsifes si 7 Frifee Sefan wfT $ TR A
ERIELY
Explain the Gram positive and Gram negative
~ bacteria staining.
3qar
(Or)
Freferfiaa W S femforr fatad :

Write short notes on the following :

(37) ey SR

Plant bacteria

(a)mﬂ?a@rﬁmaﬁ{ﬁm

Role of cyanobacteria

pP.T.O.



AH-9001

[10]
FhE—3
(UNIT—3)

5. YA &1 aNfYes wed fafan |

Write the economic importance of algae.

3teran
(Or)
Frefefe W gia feufol fafeT -

Write short notes on the following :

(37) Sa-3aLh

Biofertilizers

(F) SA-FE
Biofuels
TRl —4
(UNIT—4)

6. TIEH FT €l W Tk iy feue fafen

Write a short note on Mushroom cultivation.



[11]
AHAAT

(Or)

freferfen W st feoforal fafe -

Write short notes on the following :

(37) @A AT AEH

Edible mushroom

() FE HI AAH Te

Economic importance of fungi

X X X X X

AH-9001

AH-9001

3,290
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AH-9035

B. Sc. (Home Science)/B. Sc. (Maths./Bio.)/
B. Com./B. B. A./B. C. A. (Second Semester)

Generic Elective Course (SNGE-02)

t EXAMINATION, May-June, 2025

\ SANSKRIT
| (YT T SMeeh dTiec)

Time : Three Hours

Maximum Marks : 70
e : n‘aﬁm%waﬁﬁm
@G us—3H
1. ﬁﬂﬁﬂf@aaﬂﬁ@wﬁzﬁwzﬁm: 10x1=10
(i) 717'1‘3‘1f7{q?{f:7r>‘<1’:1%* ?
(31) 4

P.T.O.




[2]
AH-9035

(d) 5

(9) 3
(])
(i) “a’c:':r:ﬁ
(1) I )
(&) =HSA
(9) faam
() e
(iii) YEHTEECY
1
- Ww:ﬂﬁ% :
(&) .
) Wﬂﬁﬁ EARCECR|
) g @
(7) YT A -
T

(v



[3] AH-9035

(v) Tedrmeer’ & TR €

(87) =ncwitfen

() °. ARAUE

() ===

() ™
(vi) Teem Efaan s IR G FNFRTNE ?

(37) G 1 T €

CIRCEIRR I EIN

(q) fan & oA @
(3) o qefl
(vii) Frefaten § & %1 anyfes Hid &< ?
(31) hiferer™
(&) ST e
() <. auEea e

(7) EErE gl

P.T.O.



[4] AH-9035

(viih) Frafafea § & ®9 o 9 FeEe e

€ ?

(31) sitfrara

() . goar giferd

(9) guied wiEE

() Sehel™ THeA
(ix) ufTog &1 314 %

(37) 98 | S

() &I & GHT S

(9) F=il Sl "H=

(3) fordll & w9 &l
(x) YA & 391 foheh g € 2

(&) =Tare

(d) aRdE

(|) g7l
(%) Gt gansii




[5] AH-9035

Fefafed wedl & 3w dfsm 5%4=20)
(37) SRI0 771 P91 & 2 3T ufier dfsm
(&) i & fawa d SRt @ifem |
(9) F=fafed e =t smen #ifsw
“ SO SR TaHiEg : |

ST HSSTEI |~ ST - ST Ugerd -
fafererem |

YAl

AR gl sfa i qdemeeerrs |
HaqaqerT=eTel fasEfasa e |
. FroHETEiEEEE S THAeTeRTd: |
() FreAfafed veiie Hi Ame HifST
Tehel TARRI g fe gegear: |
o) FefienTeTl afeld He: i

HYgan

Wﬁ?%mmﬁ?wa:l
7 f& g feiew gfaat-a 4@ gm: |

P.T.O.



[6] AH-9035

(1) sy wfadi | d. aEE 9 S e
w1 dftra aftes e

wug—d
N mm@m@mmﬁmu 4710=40
TR — 1
3. IS 1 IR 2 gU I3R! Heed SR
Jreran
4. S9FTE fom ¥ 2 3 Hew T T e e
TRE—2
5. ‘W'Eﬁmmaﬁﬂ—fﬁmaﬂm\
3rerar
6. ‘mmsﬁmﬁaﬁm%ﬁﬁm
HIfST |
TS —3

fadrgey ‘ferens’ | ‘el wiue ' 3T
=i § fafe|



[7] AH-9035
3rera
8. “fiIeny’ o TeAERR 1 ufe 3 g EH T T
firey ot e foen @ e vl H AT
i |
gohTe—4
9. aﬂgﬁaﬁaaﬁm@ﬁamﬁ.wﬁww
éﬁngﬁmaﬁmaﬁmﬁml

AT

10. Bl FTHAWER e TE SRR T Al

AH-9035
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AH-9024

B. Sc. (Home Science) B.Sc. (Maths./Bio.)/
B.Com./B.B.A./B.C.A.
(Second Semester)

Generic Elective Course (ENGE-02)
EXAMINATION, May-June, 2025
ENGLISH
(History of English Literature)
Time : Three Hours
Maximum Marks : 70
Note: All questions are compulsory. Question paper is
divided into two parts. Section ‘A’ is objective
type and short answer type questions and section
‘B’ contains long answer type questions.

Section—A

1. Answer the following objectives questions.
1x10=10

9
What is the timeline of Hundred Year War ?

(a) 1339-1555

1)

pP.T.O.



(i)

(iii)

(iv)

[2] AH-9024
(b) 1237-1353 '

(c) 1337-1453

(d) 1437-1553

The Black Death was also known as :
(a) The Great Famine

(b) The Hundred Years War

(c) The Bubonic Plague

(d) The English Civil War

What is the predominant verse form used by
William Shakespeare in his poetry :
(a) Black Verse

(b) Rhymed Couplet

(c) Spensarian Stanza

(d) Shakespearean Sonnet

The Puritan Age is also called :

(a) The Age of Shakespeare

(b) The Age of Dryden

(c) The Age of Milton

(d) The Age of Johnson



- [3] AH-9024
(v) Which play of Williamd Congreve is often
regarded as one of the first examples of the
Comedy of Manners ?
(a) The Importance of Being Earnest
(b) The Way of the World
(¢) The County Wife
(d) The Relapse
(vi) Who is called the father of the Periodical
Essay ?
(a) Francis Bacon
(b) William Hazlitt
(c¢) Charles Lamb
(d) Addison and Steele
(vii) The popular and greatest English poets of the

Romantic Age were :
(a) Milton, Donne and Dryden

(b) Wordsworth, Coleridge,

Shelly
Pope, Johnson and Thoman Gray

Keats and

(©)

(d) Browning, Tennyson and Arnold

Victorian poets, who IS

(viii) Among the
of Dramatic

considered  the
Monologue ?
(a) Alfred Tennyson

master

P.T.O.



(ix)

(x)
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(b) Matthew Arnold
(c) Robert Browning

(d) A. C. Swinburne

T. S. Eliot wrote :

(a) Ulysses

(b) The Rape of the Lock
(¢) The Wasteland

(d) My Last Duchess

Who is not a university wit ?
(a) John Lyly

(b) Christopher Marlowe
(c) Robert Green

(d) Milton

Write short notes on the following topics : 4x35=20

(a)

(b)

(©)

(d)
(€)

Cause, spread and impact of Black Death in
England.
Rise of Metaphysical poetry during the

Puritan Age.
Celebration of Nature in Romantic poetry.

Promience of Novels in the Victorian age.

Stream of consciousness and interior

monologue in Modern Literature.
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Section—-B

Note : Attempt any one question from cach unit.
1074=4()

UNIT-I

3. How does the ‘Pardoner's Tale’ expose the major

characteristics of Chaucer's Age ?
Or

Summarize Francis Bacon's views on revenge as

expressed in his essay ‘Of Revenge’.

Or
Comment on the theme of ‘From Fairest Creatures
We Desire Increase’.

UNIT-II
4. Write a critical appreciétion of Milton's pdem

“‘How Soon Hath Time’.

Or

Elucidate on the theme of poem ‘Death Be Not

Proud’ by John Donne.
Or

Write a critical summary of John Dryden's ‘Happy
The Man’.

P.T.O.
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Or

What is the overall message of John Bunyan's
poem ‘The Boy and Butterfly’ ? And how does the
poet suggest people can achieve happy and
fulfilling life ?

UNIT-III

How does the tone of the poem ‘Ode On Solitude’

by Alexander Pope reflect his attitude and values

on happiness and solitude ?

Or

Write a character sketch of Sir Roger on the bases

of the essay you have studied.

Or

Give a critical analysis of Wordsworth’s poem

Daffodils.
Or

In what ways is ‘A Bachelor's Complaint of the

Behaviour of Married People’ a personal essay ?

Discuss.
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UNIT-1V

6. Discuss Robert Browning’s poem ‘My Last

Y :
Duchess’ as a dramatic monologue.

Or
What is the significance of the title ‘The Lotos
Eaters’ ?

Or

Write the summary of Thomas’ views as expressed
in ‘Hero As Poet’.

Or
Evaluate the central theme of ‘Dover Beach’ by

Matthew Arnold.
Or

Write a note on the central idea of the poem “A
Daughter’ by W. B. Yeats.

Or
t the key themes of T. S. Eliots

Prayer For My
‘Portrait of

Bring ou

a Lady’.
Or

«In ‘Animal Farm’ George O
and allegory tO critique Soviet Commun

Discuss.

rwell uses symbolism
ism.”

X X X X X

AH_OoNNA4
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B. A./B. Com./B. B. A. (Second Semester)

$
&5

Generic Elective Course (CAGE-02)
EXAMINATION, May-June, 2025

COMPUTER APPLICATION
(Operating System)
Time : Three Hours

Maximum Marks : 70
e : @vg ‘31’ 3iftar B 1 SHH 10 3F & A 10 TH
T 991 5 Y S YA § T T WA 4

T ¥ 991 FH 20 37 T | @UE ‘&' § IS
a9 § 1 YT TS € ¥ © T 50% Sre
fqwey ® UK W B HC T FEIRLE
10 3% 13| Fol 3% 40 T

P.T.0.
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Section-A is compulsory containing 10 objective
type questions of 10 marks and 5 short answer
type questions, carrying 4 marks for each, total
20 marks. Section-B is containing 8 descriptive
type questions, two from each unit, 50% internal
choice, carrying 10 marks for each, total of
40 marks.

Qgug-37
(Section-A)

iz : Frafafead aagiss 9= & W e
| 1x10=10

Answer the following objective type questions.
1. T S faeA F e ?
(37) T TR 1 ST

() T TR S FHP AR A

(2) TH FHR Hl FH AAH




2.

What is an oper

(a)
(b)

(c)
(d)

Ffafen 3 9 w-w v s foem 76 2

[3] AH-9004

ating system ?

A type of hardware

A software that Mmanages computer hardyware
and software resources
A Programming language

A type of computer virus

NG |

(31) fa=m

(9) fere™
(¥) HEHEER Afhd
(3) W ™

i N erating
Which of the following is NOT .an ope

system ?

(a)
(b)
(c)
(d)

WwWindow
[.inux
Microsoft office

MacOS —



[4] AH-9004

. DOS & HAAS R & ?

(31) fewr ertaifen fawen

(9) <o AfRfen fawd

(|) fefSea ArRfan faen

(2) fearzy staifen faeen

What does DOS stand for ?

(a)
(b)
(c)
(d)

Disk Operating System

Data Operating System

Digital Operating System

Device Operating System

pOS F el erEed § wEAl H gHies FH F
foru for TS 1 ST foRa ST ® 2

(3) list

(d) show

(9) dir

(Q) Is
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Which command is used to list files in a dircctory
in DOS ?
(a) list
(b) show
(c) dir
@ I
Freferfia @ F-h farer SRR frew F
T R 2.
(a7) -G
() S FAIS-TEA T

(H) Tqiftreret R FeTHH
,mmwﬁmw%

f the windows

(%)

Which of the following is a feature O

operating system ?

(a) Open-source

(b) Command-line interface only

(c) Graphical user interface

(d) Only qvailable on mobile devices
p.T.O.
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[6] AH-9004
forarm Fiet w1 wafires & #1 % 7
(31) W Wiithehel o §2ThHE Fa H T
(@) foren daerl SiR e &1 YaHT HIT
(9) o9 FSS) =@l .
(%) <ETESt A

What is the primary function of the Linux kernel ?
(a) Toprovidea graphical user interface

(b) To manage system resources and hardware

(c) To run web browsers

(d) To create documents

ﬁﬂﬁf@ﬂﬁ@ﬁq—wmémﬁw\ﬂw
g7

(37) oSSt ©R

(F) WER

(W) T

() T
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Which of the following is a package manager for

Linux ?

(@)  Windows store

(b) App étore

(c) APT

(d) Google play

S g SwEm fear S aren fewiee HiEd
e € ?

(37) NTFS

() FAT32

(9) extd

(g) HFS+

indows ?
What is the default file system used by win

(a) NTFS
(b) extd
() FAT32

HFS+
) 1.0,




'?
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ov Frfafaa § 4 S-w wh ARy ferer faae

®?

o (31) Ubuntu

(d) Windows 10
(¥) macOS Catalina
(%) i0S

Which of the following is a popular Linux

.+ distribution ?

10.

(a) Ubuntu

(b) Windows 10

(¢) macOS Catalina

(d) i0OS. :

DOS ﬁTLinuxﬁ@WWﬁmw

T 3T R % ?

(1) dfedr T Ear ‘m?‘ faT

(@) foen & ®Wg LR F@ & fau
IR IHRA 3HY T&H FHTAT

(@) TR a3 FA & fag
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What 'is the purpose of the command line inv
operating system like DOS and Linux ?
(@) To play video games

(b) To provide a text-based interface for
interacting with the system.

(c¢) To browse the internet
(d) To edit photos =
Y AT Y9

(Short Answer Type Questions)

e ;. FAfafad gea & S eS| 4x5=20

1.

Answer the following questions.

SR fiaey § 319 341 993 © 2

What do you mean by an operating system ?

7' Tl O €19 S i AT ST |

3.

Explain any four DOS commands.

faew ofmfen fawn =t fodomet w1 auH
it |

Describe the features of windows operating system.
faee H wEdl SR Wieel W WieH W Aihal
fafa |

~ Write the process of searching files and folders ina

windows.

P.T.O.
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oy yomett =t e snfehear &1 oo HIfSTT |

Describe the basic Architecture of Linux system.

Qus-o
(Section-B)

e : TS THE Q TS T 5 HT 1 €

1.

10x4=40

Attempt any one question from each unit.

soTe-1

(Unit-I)
e faey & YRl =l §&8Y H qHeAEd |
Explain the types of operating system in brief.
sftqifen faed & Waw iR el S =
SHifST |
Explain the protection and security in operating

system.
ECOE | _
(Unit-II)
éZ'FWI FUTS hi ATRAT ffﬁﬂ'{ :
DATE, TIME, CD, MD, PATH

Explain the Internal commands :

DATE, TIME, CD, MD, PATH
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4. THIEA mﬁmm :

A |
PPEND, FORMAT, FDISK, BACKUP, EDIT

Explain the external commands :

APPEND, FORMAT, FDISK, BACKUP, EDIT
gane-111
(Unit-111)
5. Window %1 d ) e @ TaEs |

Explain the structure of window in detail.

(i1)
write short notes on the following :

Renaming and moving files and folder.

(1)
(i1) Add ©

r remove Hardware devices to/from

computer
p.T.O.
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THRE-1V

(Unit-1V)
7. Torerm srfen fawen & o o wwem ¥ 2 fomem
! faRredrst 1 ey |
What do you mean by Linux operating system ?
Explain the features of Linux.

8. TrAfafed ware 1 avfF =S -
(i) cat
(ii)) find
(iii) grep o) gatt
(iv) head
(v) tail
Describe the following commands :
(i) cat
(i) find
(iii) grep
(iv) head
(v) tail

X X X X X

AH-9004
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B. Sc. (Home Science)/B. Sc. (Maths/Bio)/
B. Com./B. B. A./B. C. A. (Second Semester)

Generic Elective Course (ECGE-02)

EXAMINATION, May-June, 2025
ECONOMICS
(Basic of Indian Economy)
Time : Three Hours
Maximum Marks : 70

Az : Gt WAl & W ST

Answer all questions.
Qus—AH

(Section—A)
1. Frefafed aeqfss wE & SWEfeT: 10x1=10

Answer the following objective type questions :

(i) mﬁumﬁaﬁammmaﬁﬂé?
(31) 1947

P.T.O.
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() 1948
(9) 1950

() 1951

First five year plan commenced in India in
which year ?

(@) 1947

(b) 1948

() 1950

(d) 1951

(i) i ST =} TaTT e g 2

(37) 1 ®LE, 2015

(9) 1 SR, 2015

(|) 19, 2016

(7) 1 feg=R, 2014

When was Niti Aayog established ?
(a) 1 February, 2015

(b) 1 January, 2015

(¢) 1 March, 2016

(d) 1 December. 2014
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(iii) adam # SaEen # gfte 9 ura #1 fava 4

(iv)

- AT ?
(37) Bl

() 80

(9) &

() =

According to population perspective where
does India stand globally ?

(a) First

(b) Second

(c) Third

'(d) Fourth |

ﬁm@f@ﬁﬁﬁmmﬁmwam
ot 2011 & STTER Fed S § 2

P.T.O.
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As per 2011 census which of the following

state stands with maximum literacy rate ?

(a) Kerala

(b) Tamil Nadu

(c) Madhya Pradesh

(d) Chhattisgarh
yurEst am gew g (f. @S T
TE) FAYAHITE 7

(37) 1 e, 2000

(&) 15 3T, 2000

(9) 2 3AFR=, 2000

(€) 25 fg@wI¥, 2000

When was Pradhan Mantri Gram Sadak
Yojana (PMGSY) started ?

(a) 1January, 2000

(b) 15 August, 2000

(c) 2 October, 2000

(d) 25 December, 2000



2 AH-9023
(vi) ®Ra wifq § gimfm & .

(1) Iq =
() T @e
() HN T

(%) Suda I |

Green revdlution includes the following :
(a) High breed_ seeds
(b) Chemical fertilizer
(c) Agricultural mechanization
(d) All of the above
(vii) ST ST & T € :

(=) = ferfren e

The founder of Bhoodan Andolan was :
(a) Lék Manya Tilak

(b) Gandhi ji

(c) Jay Prakash Narayan

(d) Acharya Vinoba Bhave
P.T.O.
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(viii) AT Y T fFq o8 & TR ?

(31) 1982
() 1985
(9) 1987
() 1990

In which year NABARD was established ?

(a) 1982

~(b) 1985

(ix)

(c) 1987

(d) 1990
ard o e SRifie Fifa 1 Swon %9 Sl

TS ?

.(37) 30 379, 1990

(|) 24 S8, 1991

(9) 15 37T, 1991

(T) 9 3SR, 2001



[7] AH-9023

In which year was New Industrial Policy

announced ?

(@) 30 April, 1990

(b) 24 July, 1991

(¢) 15 August, 1991

d 9 October, 2001

YReS @7 Sei for 3 F1 T e o

+I T &t ?
(31) 1975
(&) 1980
(J) 1990

(2) 1992

Small Industries Development Bank of India
was established in the year :

(a) 1975

(b) - 1980

© 1990

d) 1992
P.T.O.
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frfafan wedl & o Qe (e 3 w9 ) :
5%4=2()

Answer the following questions (Short answer
type) :
(37) TIiEA Sefeawen ¥ oMY 21 g © ?

What do you mean by Stagnant Economy ?
(F) 9RAd ¥ S TR & 1 FRU § 2

What are the reasons for high birth rate in
India ?
(|) ¥Rda FfY w5t 7 fadwand =0 € 2

What are the main characteristics of Indian

agriculture ?

(T) i Hift & wea F same wifvw)

Discuss the importance of Industrial policy.
(F) Rd H GreEh IUHA & ]I | e
Tl |

Describe the objectives of public enterprises

in India.



(9] AH-9023
WUg 7

(Section—RB)

e Wﬁﬂiﬂqumaﬁﬁm 4710=40

3.

Allcm'pt any one question from each unit.
THRE—1
(UNIT—1)
A B IR, ARt st # g fawE W
TR ST |

Throw light on development of Indian economy in
post-independent era.

reran

(Or)
Hfer T @ § 2 e Sewdl W 1 feas
HifeIl |

What is Niti Aayog ? Describe its objectives and

working.

gHTE —2

(UNIT—2)
e @ S ¥ 2 @ Hrl
= hifog |

P.T.O.

AR AT

— ‘L.—‘ 2

S P R



R e T FE
. ’

s

[10] AH-9023
What is meant by Migration ? Describe the reasons

for migration.

HYgar

(Or)

TR § SRS & 91 SR § 7 S0 #

T 1 HE D IR} e FR

What are the causes of unemployment in India ?

Give suggestions to solve the problems of

unemployment.
THhE—3
(UNIT—3)
yd # FH e Td IARHA dgH & fau
FF-F F yr e T ¥ 2 e Hifkw

What are the various suggestions for improvement

of agricultural production and productivity in

India ? Discuss.



- [11y
MLE |
(Or)
YRa o :
ﬁ%’ﬁﬁmwwﬁﬁuﬁﬂf@m

AH-9023
8.

Write a
N €ssay on Green Revolution in India.

THE—4
(UNIT—4)
9. W'ﬁmﬁ@'@jﬁ%“ﬂwﬁcﬁ AT
i)

Describe the causes of Industrial backwardness in

India.
AT
-(Or)
10. e i g T <1 T e ¥ 2 e HH

Discuss the importance of small scale industries in

India.
X X X X X

4,080
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AH-9027

B. Sc. (Home Science)/B. Sc. (Maths/Bio)/
B. Com./B. B. A./B. C. A. (Second Semester)

Generic Elective Course (HNGE-02)

EXAMINATION, May-June, 2025
HINDI LITERATURE

(it e ot ShErE— 3Ny i)

Time : Three Hours

Maximum Marks : 70

dre: gt yel & S ST
QUg—3H
T FreferfiEd TEgRTsS WEAl @ ST il : 10x1=10
(i).-.:gm‘rmmm%?
(1) TRAG -



(iii)

(a1) Aferefterer T«

(|) sty smearE e

(2) FEARE Skl

AH-9027
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(iv) ‘aRa< ' & WheH 99 § .

(31) 1951

(F) 1943

(1#)‘ 1963

(R) 1946

(v) TEER F AR FFg W A @ 2

(1) 1936 |
(F) 1901

(¥) 1918

(<€) 1850

P.T.O.
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(vit) amarf unsig gEe g i fan e
AR
(31) faasamfor
(/) 3WMF B Hel
(Q) WU S T
(7) fafa Freg ®R _
(viii) 3Tl TRy fgadt g wefed b
FAAT :
(37) IR-guiAy
(9) T
(9) A
(2) 9
(ix) ' @OIg 1 T fa1' eF & TEAGR 1 TH
e
(31) Higd ThY
(a) Afirg S
(4) yHEi Kt
(Q) ST |y



(6]
() "I v gy

AH-9027
-
b TN 5 e 2
(31) 1fFaay

() yfire

(?) faeirem
2 mmjﬁmm(ﬁgmm)
5x4=20)
(1) Te<t Foramme ok sy e
(9) SHEmEE F1e 3§ T
(F) FATTER i i@ favrnd

(T) WHATA FHfaa w1 yq@ yafaf
() f&<t 39=ma &1 3qa 9 e
gug—a
HE : Yeddh TS U Ueh Yo &l hifSiu | 4x10=40
g — 1
3. gyfad d1d &1 wfaE amifsrs geyfi W
yeh1?l Sifedt |

P. T.O.
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3tera

4. WA g7 h Wifsfeaen ferommat W ek eifert |
THRE—2

5. fgor 3 1 wg@ wgfl fafe)
X o)

6. ST Fre F ferdivrel <t Yifna i
ghTE —3 |

7. TIfaaet sreaum i faRserd fafat |

3Tl

. T o Y W@ Wl T g Sifere
. s
0. ot Tt % SR @ T Ry e
et
10. @ MeF B 3@ @ Fa W AR oG
fafew

XXX X X

AH-9027 2,110
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B. Sc. (Home Science)/B. Sc. (Maths)/B. A./
B. Com./B. B. A/B. C. A. (Second Semester)
Generic Elective Course (ZOGE-02)
EXAMINATION, May-June, 2025
ZOOLOGY
(Cell Biology and Histology)

Time : Three Hours
Maximum Marks : 70
Fe: Tl @ @ v
Attempt all Sections.
Tug-(3)
_ (Section-A)
e : I 9wl & SW fafan : 1x10=10
Answer the following objective questions :
. T & defdre w1 9 fafEa
Write name of a prokaryote.

P-T. 0.
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HF-F R A @l & ?

Which organelle stores protein in it ?

HIF-H1 HIfTHT * et A’ ¥ 2

Which organelle is known as *suicide bag’ ?
FITH & el T8’ %1 W fafen

Name the power house of the cell.

SHITHT F1 H-T1 RIRTHT T Ffor w2 2
Which organelle in the cell manufactures protein ?
-1 TF9TST R 3= Searel = W feafau |
Write the names of products produced by meiosis.
feRTa A &1 §&4 [ fafau |

Write the major function of nuclear membrane.
WA 1 gafed TH FME 2

What does commonly spleen known as ?

ﬂaﬂﬂ%%mﬂa%ﬁ@%?ﬁﬂﬁ
3THM ?

How is the length of metacentric chromosomes—

equal or unequal ?

0. =119 H1 1 e o 4

(3]

What is the main function of neuron ?
FTZ-()

(Section-B)

e : 1 o 39 v @ 29 fatan 4%5=20

Answer the following short answer type
questions.

fafaw|
Write the four major differences between

prokaryotes and eukaryotes.
2. RGNS F1 =S WIS (93 995C a9 THh
7= w1 fatan
Draw a well labelled diagram of Mitochondria and

write its major functions.

3 FES AT (6w Ry E g fagH W
pEaN RS

Draw a well labeled diagram of Telophase write its

main features.
P.T.O.
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4. FIEAT T gL H ST FIE H W= AHIHA Write short  notes on the following
. (i) Microvilli, (ii) Desmosome, (iii) Chemical
L_um.wm"__mm_ . . . e composition of cell membrane, (iv) Labelled
Draw a well labeled figure of cartilage’s and ‘agram of a bacteria (also write its name for
, g example).
bone’s transverse section.
qUe-(®) Li
Unit-1
. (Section-C) : (Unit-I1)
3. Tamm w1 Afdges foass @ =w5% 7 =
AT : TS SHIE 9 DIS Uk U9 8 BT 10x4=40
fererm fefam
"Attempt any one question from each unit.
TFTE-1 , . 4 Describe the ultrastructure of ribosome with
suitable illustration with its functions.
(Unit-I) o . , 5
4, AEHEM H GEA @ HE F a0 e
1. A el B UGS Hiolw | Afed 1 g faatm
Describe the structure and functions of lysosomes.
IS
-1l
Describe the fluid mosaic model of plasma )
(Unit-111)

membrane with suitable illustrations. . X £

frffe W dww fd ffe _,._u, m.u@ﬁa&ﬂ%ﬁﬁ%%ﬁ

(i) WIS, (i) SEIEM, (i) P Fe & HEE| 1 TR T

TOREfTE 9ueH, (iv) T JFIE 1 Fmifea o Describe the ultrastructure of nuclear membrane
and describe its structure.

(R % TR W 3qeh1 T 4t feafe 1)
P.T.0.
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6. Whol-1 I Iy-yraemsti w1 o weq foero
S|

Describe the substages of Prophase-1 with suitable

illustrations.
FHRE-1V
(Unit-IV)
7. T RS ) o B gY A F T
Yedh YRR 1 & w1 fafay|

Classify the blood cells, label them and write their

specific functions.

3. wholeet Al 1 ST T FI g
fafaa |

Draw the ultrastructure of skeletal muscle, write its

features.

¥ X 8 XX

AH-9017
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B. Sc. (Home Science)/B. Sc. (Maths/Bio)/
B. A./B. C. A. (Second Semester)

Generic Elective Course (COGE-03)
EXAMINATION, May-June, 2025
BUSINESS ECONOMICS
| Time : Three Hours |

Maximum Marks : 70

e : It weHl B S <SifsT

Answer all questions.

GUg— 3T
| (Section—A) ,
1. freafafed sy f swANT:  10x1=10

Answer the following objective type questions :

(i) oAraEfaes srefene fad w9 | wafe ©
(1) Y

P.T.O.
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(=) wd & fagia A
(@) 79 FREH |
(%) %m@ﬂmn&

Business Economics in specially related to :

(a) Industries

(b) The principles of the firm
(c) Other factories
(d) None ofthe above

< ol T TR F AW
I% ¢
Evnm_ﬁaznmﬂmﬂ%m
(%) T TG FA
Qvﬁim&mmﬁm
() s gy FE €

in place of on

T @ S §

Good which are used e another
are called :
(a) Substitute goods

(b) Complementary goods
() Acomplice goods

(d) Cross goods

(3] AH-9039
(i) SATETRITE: AL THTAA F7 % -
(31) AT &+
() T
(|) A 1

(iv)

(2) UG i &I

Business economist makes a forecast of :
(a) Cost

(b) Demand

(c) Price

(d) All of the above

K

(37) oI

(|) YA @l

() TS &
() o H F FE T

of normal goods, demand curve

In the case
shows :

(a) A negative slope
(b) A positive slope
(©) 7Zero slope

(d) Non¢ of the above
p.T.O.



(v)

(vi)

(4] AH-9039
T F ST g T F R w
¥

() 3ugm
() 39afiran
(9) 39

(%) 9 gaga

Want satisfying power of a commodity is
called :

(a) Consumption

(b) Utility

(¢) Production

(d) Value addition

=y e § SR 1 q9q I el & :

[5]
AH-9039

Consumer’s
MEr’s surplus is the highest in
of :

the case
(3) Necessities
(b) Comforts
(¢) Luxuries
(d) Conventional necessities
(vii) ST 9% Fam % -
(31) fafy= o 1
() T gl
(/) i g ﬂ
(7) =R gt

The Indifference curve is a combination of :
(a) Various factors

(b) Two commodities

(c) Three commodities

(d) Four commdities

P.T.O.



[6] AH-9039

- . — . (7] AH-9039
THTTHHR i fepar In a very short period of market :
GRS T
(a) The supply is fixed
(30) — (b) The demand is fixed
- o (c) Demand and supply are fixed
DIRED _ (d) None of the above
(9) T g1 (x) REdTTe ATt & 799 #7136 &
() Swdaa & @ (31) T SFeveamd
Under monopoly, product price is determined () w19 s
By | (9) T FF=ard
(T) IR HT=W

(a) Government

(b) Customers .
The law of variable proportions has :

‘ (c) Firm (a) Three stages
(d) None of the above (b) Five stages

(ix) 31 STEIRIT TR 7 :

(c) Two stages

(d) Four stages

(a7) fl feem Bl &
- cay st e A ). Frefafed T @ SO AT (T A F9):
' 5x4=20
s s | ‘ (%) T T H&&&@A@%W Answer the following questions (Short answer
e type) :

() swgFa & 9 g T
pP.T.O.

—
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[8] AH-9039

(1) Fifeeq & faari 7 o Hfera feoon fafea

Write a short note on ideas of Kautilya.

(9) ST 1 F1 AVE § ? THF FER FaEC
What is meant by Utility ? Explain the Kinds
of Utility.

() Serdia a5 1 F1E 9 fagrand sarse |
Discuss any four properties of Indifference
Curve.

() W& a&g 1 Yfd &1 ywifad 3 @t 79@ T
qdre |
Mention the main factors determining the
supply of a commondity.

(3) goi yfezfira =1 fadmand fafau)

Write  the  characteristics  of  perfect
competition.
@us—a
(Section—B)

T : WS T 9 Ueh T9H & FifoT |

3.

Attempt any one question from each unit.
FHE—1
(UNIT—1)
YayHY AW B § 2 YEuHE Fdureh &
T4l &t faa=m ity |

(9] AH-9039
Who is business economist ? Discuss the functions
of a business economist.

AYgar

(Or)
T < foram 1 sren e | T ST @ E 2

Explain the Law of Demand., What are its
exceptions ?

ThTE—2

(UNIT—2)
Wt 1 o @ ¥ 2w wiEa o 1 AR

1 AT HIfST
What is elasticity of demand ? Explain the degrees
of price elasticity of demand.
3T
(Or)
Swifiten g frem 6 sren Fifsm ) et @
TEIAl | TR A | AL H SHRT F41 Hed
€2
Explain the law of Diminishing Marginal Utility
with the help of diagrams. What is its importance

in economics ?

p.T.0.

i



7.

[10] AH-9039
THE—3
(UNIT—3)
T R wfiwd ¥ F v § 2 st fali
el i AREAT HifT |

What is meant by Return to Scale ? Explain the
various phases of'it.

AT

(Or)
T2 9 $ SR H1 ‘3T Tl hl IR
Fifeq | fafu=1 gR =t AR o=dl Sl e
FIfIT . |
Define ‘Internal Economies of large scale

production’. Discuss the various kinds of internal

economies.
TFE—4
(UNIT—4)
TR F1 afafua Fifsa | Terfes &t gereEd 9
THIMHFR & Add Jod 4o &1 a9ems |

Define monopoly. Explain diagrammatically the

price determination under monopoly.

(1] AH-9039
Agar
(Or)
10. Y0t Sl 1 4 Ty ) qoi W & stara
g i gfwn #1 gezmn)
State the meaning of perfect competition. Explain

the procedure of price determination under perfect

competition.

X X X KX

2,950

AH-9039
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B. Sc. (Home Science)/B. Sc. (Bio.)/B. A./
B. Com./B. B. A./B. C. A. (Second Semester)
Generic Elective Course (MAGE-02)
EXAMINATION, May-June, 2025
MATHEMATICS
(Algebra)

Time : Three Hours

Maximum Marks : 70
e . 9l 9vH &l T FHife |
Attempt all questions.
Qg —3AH
(Section—A)

1. |t TS IRl S I ST 10x1=10

Answer all the objective type questions :

() UF afes faun-wafHd IR @ ferenmi

HIIT %

() THE

P.T. O.



[2] AH-9013
(9) yj=
(H) 39 apafas
(=) T 83 2

Diagonal elements of a real skew-symmetric
maltrix are :

(a)  Unity
(b) Zero
(¢) Non-zero real

(d) None of the above
(1) O SZE A 1 3% W ¥ 3fz i saw afz
AR

0 is an cigen value of a matrix A if and only if

the matrix A is

Symmetric

(1)

(3] AH-9013

(b)  Skew-symmetric

(¢)  Singular

(d) Non-singular

aEdiad qEmsll & wywm # uw waw R

yRfad ® AW wyzeR ¥, @ R R
REALE I A

(31) xRy, vRz => ¥Rz

(A) xRy

(|) xRy = yRx

() 37ad § A & T

A relation R is defined in the set of real

numbers and x,y,z € R, then R is transitive
in R, if:

(a) xRy, yRz= xRz

(b) xRx

(c) xRy=>yRx

(d) None of the above

P.T.0.

Ev
i
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[4] AH-9013
A?V£m>£zw%a$ﬁ%ﬂ§W%> B =

(31) A~BY
() AYAB
(]) AuB‘

() AYUB

If A and B are any sets, then A - B =

(a) AnB¢
(b) A“~B
(c) AUBS®
(d A“UB

(v) f(x)=2x gR1 gfiurfga gfdf=so fiN—>N
gk

() TheT e
(9) Tha! ArEF
(9) FgUh] =<4l
(3) FQUHI SDCH

(vi)

(5] AH-8013
The mapping f:N <> N defined by f(x) = 2«

3

(a) one-one into
(b) one-one onto
(c) many-one into

(d) many-one onto

a1 I T HEIHR THI TEA ©

An equation of the 7th degree always has
(a) nroots

(b) n real roots

(c) 1 imaginary roots

(d) None of the above

p.T.0.



(6] AH-2013

(7] AM-9013
e lu "
Vi) 99 JftEFm e Gen B mit gm The generstors of the cyclic group
g, afz ({l.or.@’}.-) are
(37 Aun " hzu <0 f1r o and o’
» . by 1 and »
(9) G +al’ >0 )
(cr 1 and o
.  JRPT
(8) G +ai’ =9 (4) Naone of the above
(R G=H=0 () 5% p T% S wam ¥ e o w9 s #
The roots  of the  cubic equation . bk
h.,.!.wuﬁu#Onosu__ equal, if ; (8) & =atmod p)
Ahv ON '“N&N < c ( “— nki - ;..B»J‘hn 7

) G’ +41°
) =0 (F) &7 = limod p)

{c) Qqu&,—N"Q (Z) %una.«ﬂm
(@) G=H=0 |
?m_.vﬂmmﬂﬂuw«:ra.sur.v F E E

If p s a prime number and g s any integer,

then
(%) 0 3T o (3) & =a(mod p)
(3) 13 o (b) & =0(mod p)
(|) 13 ? () @ =limud p)

=) .Nd.ﬂad LR w1¢ (d) None of the above

P.T.0.
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(9] AH-9013

With the help of elementary transformation,

[8]
(x) H, G W9 %1 TH FHM STE ¢ Al 3R
Had gfg gt ¢e G & forT

find the inverse of A, where :

() gHg '=H
|w1,"
|
|

1
38

0
1]

|
[SS BN VS

0

(%) 39 § § FE T
H is a normal subgroup of a group G iff for all (i) frafafem #@=ge = Afvyenas  Tg0s,

g€l :
(a) gHg'=H et gEET AR AHedE qd
1 I
AOV IWI_”I
2 -1 1]

(d) None of the above
2. fefafad 4 § 5 e WAl #1 T #ifw
(T3 5904 : 4x5=20
Find  the characteristic  polynomial,

J .
Solve any four of the following questions (short
characteristic equation and characteristic roots

answer Jﬁmv .
() IR FURRT H1 HeAd § TEE A
FHH 1A FHIfSTT; el ;@ of the following matrix :
I 2 =2 2 -1 1]
A=[-1 3 0 A=[-1 2 -l
0 -2 | E_ -1 2

P.T.O.




[10] AH-9013

(i) 3 | qufdl &1 wH=IA @ 99 g
Ry = x—y TF G0 QF ), @ fag Hiferw

feh R & qoaal gy fRefud #Xa 8, sl

xoyell

If I is the set of integers and the relation
YRy =x-) is an even integer, then prove
that R is an equivalence relation, where

x,yel.

(iv) ¥FTRET (Quotient) 3R JIU%Ha (Remainder)

i

W FMTC 5 0 =3xt+x7 - §x—135

.a.la.@ﬁggﬂw._

“ind the quotient and the remainder when

=3t - gy 135 is divided by x — 4,

[11] AH-9013

(v) g Fifau fr @it afzi &1 94 V 3

?ﬁ%ﬂ h7dl N._

Show that the set of all vectors V forms an

infinite abelian group with respect to vector
addition.

gus—d

(Section—B)
Sz TEE THE § TE W o Fad ) 410=40

5. = —
Attempt any one question from each Unit.

THE—1

(Unit—1)
3 %m,ﬁﬂwﬁﬁm-ﬂla%ﬂn
A FRAT 3R S S Fa A
230 1]
101 2
&Sy 1 1 =2
2 53 -1

P.T.O.



[12] AH-9013

Reduce the following matrix to the row-reduced

echelon form and determine its rank ;

2 30 1
| 2
A= 0 1
-1 11 =2
2 5 3 -]
Agar
(Or)

2 2 1
4 SR A=|1 3 || % gt srfcnarfoer o
122

T FIGT T 39Q gty sifyenerfrs oo
A HifsT |

Find all the eigen values and the corresponding
2 2

eigen vectors of the matrix A=[1 3 1],
1 2 2
FHE—2
(Unit—2)
S A [:XoY R g:Y>7Z wEE srmes
Wt € @ fag wfiw fF o wfifew

[13] AH-9013

Lof: X7 i vdkar wrmEE € 9d

| .
(gof) '=flog i )
one-one onto

If /:X>Y and g:Y—>7Z be
Nc.\..vw‘lvN

mappings, then prove that mapping
is also one-one onto and (go f) ' = fog™.
qgar
(Or)

yfaeim gy F7 g fafed a1 3tz R~ a4

-

s~ o9, g R 991 S & Waam = EL @

fag wifa fF (SoR) ' =R oS |

. . . -1 -1
Define inverse relation and if R~ and S are
inverse of the relations R and S respectively, then

prove that Amc?'_ =R os7".

TEE—3

(Unit—3)

TETH IVETHS e @1 GRHId FIFT T TgIRI

f(x)= 2% - 4x* +x=2 AR g(x) = ¥ -xt-x-2
a1 ey WA WIei (g.¢.d.) 14 IS |

P.T.O.



[14] AH-9013 ,,
9
Define Greatest Common Divisor and find the [15] AH-9013 -
| »
gc.d. of the polynomials f(x) = 2x* =dx® 42 | AR ;
(Or)

LR L% #— u»ﬂw.\. ﬁmﬂh_ﬂg

m:& mﬁ.d. = .4..0 l./.N —-X - 24
Irgar H % am™ = =
Q T34l 9h H Lq 4
(Or) et Hem =T & A F A TEF Faa)
\ T 2
8. THAF + —15x—126=0 1 Hreq fafd g ;
Prove that, if H is a subgruop of G. then there is a

one-to-one correspondence between the set of left

HIfT

cosets of H in and the set of right cosets of HinG.

Solve the equation v’ —15x—126=0, by Cardon’s
X X XXX

method.

TR —4

(Unit—4)
forg FAfe fF oA G # Frie ghTE o FAE
¥ il (cube roots) 1 HI= e ffia ST

9.

e B
260

t of cube roots of unity is a finite

Show that the se
AH-9013

abelian group with respect to multiplication.
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B. Sc. (Home Science)/
B. Sc¢. (Maths/Bio)/B. Com./B. B. A./B. C. A.

(Second Semester)

Generic Elective Course (PSGE-02)
EXAMINATION, May-June, 2025
POLITICAL SCIENCE
(Constitutional Government in India)

Time : Three Hours

Maximum Marks : 70 '
e ;. gl A & S ST |

Answer all questions.

Gug—A
(Section—A)
1. FreAfafed aegfs ae & IWANT: 10x1=10
Answer the following objective type questions :

P.T.O.

T —]



(i)

[2] AH-9031

n%%mﬂﬁﬁ%ﬁﬁmwn
( 37) W e

(/1) Sl TS J8R
(q) AR AT T8
(7) . HimE SEEH

Chairman of Constituent Assembly of India

was :
(a) Mahatma Gandhi

(b) Dr. Rajendra Prasad
on_ Jawaharlal Nehru

(d) Dr. Bhimrao Ambedkar

e At & R T

(iii)

3
(3] AH-9031

I he . .
he Indian constitution is whicl
sy which of :,wr.

following types ?

(a) Rigid

(b) Flexible

(c) Both rigid and flexible

(d) Unmodifiable
dfaur & FH-3 HoE gm SEaE F

-

] % Hifes Fued 713 70 7

q4 gl

(31) | 1976 429 TN

() T 1971 F 258 TN &

iU

SAY

0l
El
al
W

(§) T 1978 % 44
(7) T 1985 F 528 T 5

By which constitutional amendment Were the
fundamental duties of the citizen added in the

constitution 7

(a) 42th Amendment. 1976
(b) 25th Amendment. 1971
(¢) J4th Amendment. 1978
(d) 32th Amendment. 1985
pP.T.0.




(4] AH-9031

(iv) TETRT ) PR SR Fa e ?

(v)

(37) el
(|) T
(|) Tegafa
(7) et=a e i e =

Who appoints the Prime Minister ?

(a) Chief Minister

“(b) Governor

(c) President

(d) Chief Justice of Supreme Court
v e Ted el a9 fFa S E 2
(31) Toaa |

() A A

(@) fae off w7 4 7

(7) Sod 8 § A

Where is the :&:mw bill introduced first ?
(a) InRajya Sabha

(b) In Lok Sabha

(c) Not in any House

(d) None of the above

(5] AH-9031
(vi) "= e

(A) FfaaE =1 T Fred 2
(A) g =1 120 Frd1 21
(H) FETfeAaR T g0 2 7
() 523 1 aeAdl &1 TIa0 a1 5 |
The Supreme Court protects :
(a) the Constitution.
(b) the Parliament.
(c) the Executive.
(d) the High Courts.
(vi)) T % Hal IET F Ay AR TEE F
TR s s ?
(31) TEIA
() REEEs
(®) Tt

() & A

P.T.O.



[6] AH-9031
Who appoints the ozﬂ.:::a: and members of
the Union Public Service Commission ?
(a) Governor
(b) Prime Minister
(c) President

(d) Chief Justice

(viii)fora SmanT T T fohad ast & fag 1 S

®?

(37) 5 =
() 6 o
(@) 4 a4
(%) 10 a8

For how many years is the Finance

Commission established ?
(a) S years

(b) 6 years

(c) 4 years

(d) 10 years

v

L 4

[71 AH-9031

(ix) TFura =1 fafa 1 w1 e 2

(x)

(1) gurEEh
() wa=a =Eed F1 & A
(|) Tegufd
(%) 3w # ¥ FE i
Who appoints the Governor ?
(a) Prime Minister
(b) Chief Justice of Supreme Court
(c) President
(d) None of the above
T Y AT FHRUTAH] H STEAE B €
(37) T=qUIA

(9) fauraw =1 313y

(W) e
(X) g af=a
The head of the actual executive of the state
is:
(a) Governor
(b) Speaker of the legislature
(c) Chief Minister
(d) Chief Secretary
P.T.O.
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AH-9031

(8] AH-9031

Frefefad o q) (9]
; wuHl Sy Afaru (e IUUH HRH): o )
N . e (v) Fo AT & A, A A A 6
PRUSEY fererarn #fsm |
Answer the following questions (Short answer type Discuss the composition, powers . and
questions) : jurisdiction of the High Court.
kst [qUs—=A
(i) WRarg Sfqur HT g quis IS |
. (Section—B)
Describe the Preamble of the Indian N
HWN" ﬂ.@ﬂwﬂ;oﬂﬂﬂ.ﬂ%ﬂ— 4%10=40

constitution.
Attempt any one question from each Unit.

(ii) qurEsT & Srd Td afR & o Sl .
ESdEad
Describe the functions and powers of the .
(UNIT—1)
Prime Minister. . o ) o
- 3. YRAWE WiauE S fageasi 1 auE el
(iii) ﬂ%jwmiﬁ&ﬁﬂr%_
Describe the features of the Indian constitution.
Describe the Legislative relations between the
centre and states. . ors
V) Tou & gemE &1 wiwE R feafd 6 . . " .
- i . A T $ SfauE § weR Aies SEEh H S
A | It |
Evaluate the powers and position of the Chief Describe the Fundamental Rights incorporated in
the Indian constitution.

Minister of the state.
P.T.O.



[10] AH-9031

«“ﬂ.ﬂlw [11)
(UNIT—2)
s o (UNIT—4
5. gufa F wfsadi @ w1y & quig Fif) . o :
Describe the powers and functions of President. o
Explain the powers of the Governor.
AT
(Or)
& . . (Or)
6. THT FT T, FTE 3R AT F1 G0 HIAC . . o
10. T3 Fi fauraw 3 Tmeq 9o oS =1 faa=m
Describe the composition, functions and powers of v
the Lok Sabha.
) . TEE—3 Discuss the organization and powers of the State
. Legislative Assembly.
(UNIT—3)

7. HH @ Hal AEGE F1 909 U6 S B AR

X X X X X
~
ﬂ__wﬂm_

Explain the structure and functions of Union Public
Service Commission.

Ag4ar
(Or)
8. fau smam T ? 764 FrAl 1 qui Fifay
What is Finance Commission ¢ i

! c_cmcr_gc its —_— 2,320
functions. AH-
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B. Sc. (Home Science)/
B. Sc. (Maths/Bio)/B. Com./B. B. A/B. C. A.

(Second Semester)

Generic Elective Course (PSGE-02)
EXAMINATION, May-June, 2025
POLITICAL SCIENCE
(Constitutional Government in India)
Time : Three Hours

Maximum Marks : 70
M : ¥ WA & SW S
Answer all questions.
gug—A
(Section—A)
1. frefafas s awH @ s ST 10x1=10
Answer the following objective type questions :

P.T.O.




(i)

[2] AH-9031
M Wure o  steae &
(31) Tere ikt
() . T vEr
(9) &R 1 o -
(R) . e srigas

Chairman of Constituent Assembly of India
was :

(a) Mahatma Gandhi

(b) Dr. Rajendra Prasad

(c) Jawaharlal Nehru

(d) Dr. Bhimrao >5Um&8a

s e Frefafan § 9 fhe @ o
€ ?

(31) H3R

(a1) er=ten

(9) HSR T& Tt A

(T) STEINYHN

(31 | AH-9031
The Indian constitution is which of the
following types ?
(a) Rigid
(b) Flexible
(c) Both rigid and flexible

(d) Unmodifiable
(iii) dfgam & HE-¥ HoeA g dtauE

A < wifer Fdo g T 2
(1) T 1976 T 424 HINHA g
() T 1971 & 259 WA W

(W) T 1978 443 T 51

(T) | 1985 T 529 HEA 5T

By which constitutional amendment were the
fundamental duties of the citizen added in the

constitution ?

42th Amendment, 1976

(a)
(b) 25th Amendment. 1971
(c) 44th Amendment, 1978

(d) 52th Amendment, 1985

P.T.O.



[4] AH-9031

(iv) WS = Frafr 957 S S 2

(37) g

(9) T9eE

(|) Tsgufa

(]) o= =rarerg =1 q&a =i
Who appoints the Prime Minister ?
(a) Chief Minister

(b) Governor

(c) President

(d) Chief Justice of Supreme Court

4 fadae geel el Jw fora S & 2
(37) ToEr |

() drhae |

(|) Tt oft wea 4 &t

() Svgdsa 4 | F18 T

Where is the money bill introduced first ?
(a) InRajya Sabha

(b) In Lok Sabha

(c) Not in any House

(d) None of the above

(5] AH-3031
(vi) W= =1y -
(1) Hfgum =1 1en F1a 3
(F) HGE F 161 FLe 3|
() FrEwferr F1 FE0 <@ 7|
(T) =3 A F1 L& a1 8
The Supreme Court protects :
(a) the Constitution.
(b) the Parliament.

(c) the Executive.

(d) the High Courts.
(vii) §9 A% Ja FET F sy AR TSl H

i A FL@ T 2
(31) T

(}) FEEHE

(¥) Tegufd

(%) e A

P.T.0O.



[6] AH-9031
Who appoints the chairman and members of
the Union Public Service Commission ?

(@) Governor
(b) Prime Minister
(¢) President
(d) Chief Justice
(viii) fo9 3TEmT 1 <me feee ot & faw =5t s
T2
(H)sad
(9) 6 98
(9) 499

(%) 1099

For how many years is the Finance

Commission established ?

(a) 5 years
(b) 6 years
(c) 4years

(d) 10 years

(71 >:.Sﬁw
(ix) T 1 fgfm SR w2 7
() FHATA
(A) TET=A AP F T AT
(|) Tezfa
(z) 37 E 3 FE T
Who appoints the Governor ?

(a) Prime Minister

(b) Chief Justice of Supreme Court

(c) President

(d) None of the above
(x) T i Grdtas AT w1 TEd AT

(3) TEIA
(3) foumsw =1 725

(T) A
(7) F&a |=Ea
The head of the ac

1S

tal executive of the state

(@) Governor
(b) Speaker of the legislature
©) C hietf Minister

(d)  Chief Secretary
P.T.O.



(8] AH-9031

2. nﬁ%ﬁ&%%%ﬂ%%ﬁﬁy

5x4=20

Answer the following questions (Short answer type

questions) :

()

(if)

(iii)

(iv)

Rt S S el ST v SIS |

Describe the Preamble of the Indian

constitution.

JYHEST & R e wfREl 1 a0 hifse |

Describe the functions and powers of the

Prime Minister.
g AR Todl & faurt gl &1 9o S |

Describe the Legislative relations between the

centre and states.

W % e w uheE sk Rl @
ESEEREIEY

Evaluate the powers and position of the Chief

Minister of the state.

(91 AH-9031
v) S= e F e, wfEdl 9 SEfHeER
fereramn sifsa) |

Discuss the composition, powers and

jurisdiction of the High Court.

gus—d

(Section—B)

W : TE T A Tk U Hifod | 4x10=40
Attempt .w:v\ one question from each Unit.
gehTe—1
(UNIT—1)

3.

4.

R dfger 1 faRearsti &1 9uiA hifse )
Describe the features of the Indian constitution.
3ATAT
(Or)
R & Gfoum #§ wed Hifas AfEwrl w1 9o
ST |

Describe the Fundamental Rights incorporated in

the Indian constitution.

P.T.O.



[10] AH-9031

L FER—2
(UNIT—2)
gt F1 Wil 1] 1 ol HIfST |

Describe the powers and functions of President.

Describe the composition, functions and powers of
the Lok Sabha.

ThTE—3
(UNIT—3)
HifT |

Explain the structure and functions of Union Public

Service Commission.

g
(Or)
faa @AM TN T ? 39 HIAT T GUA HifST |

What is Finance Commission ? Describe its
functions.

[111] AH-9031
TRTE—4
(UNIT—4)
9. AT Y wiRE H1 A il

Explain the powers of the Governor.
rgar
(Or)
10. ﬁ%ﬁmﬂﬁé%%&umﬁ%%ﬁmﬂﬂ
HifST

Discuss the organization and powers of the State
Legislative Assembly.
X X X X X
2,320
AH-9031
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Attempt all questions.

P.T.O.



L&) AH-903¢

gus—3y (3] AH-9036
(Vii) Ty ACEDT i T
(Section—A) S ® 2
1+ Trfefen st wed % s i - 10x1=10 What doyou understand by Rura
Uo<n_o_§osﬁ ?
Answer the following objective type questions : (viii) SRS 1 % 2
(i) Teodsns »

. What is Unemployment 2
What is Purushartha 2 (ix) WSIER =K1 wftume s
(if) =9 fofe w3 A 8 o

Write the definition of Corruption.

3 Y € ?
How many types of Varna are there ? () RS S04 T R
(i) a1 wa gfesmey fafen | Who is called Cyber Crime 2
) 2. Trefefed g i wodl 3 smdfau ;. 4xs=20
Write the one definition of caste. ™
(iv) faare &= T2 . Answer the following short answer type questions :
| (31) o & Hew = A
What is Marriage ?
: g Explain the importance of Varna.
(v) 9IF ReR fFd wea § 2 )
(9) UfER sl ARl 1 W FHiTST |

Who is called Joint Family ?

(vi) AERY f6d wea & ?

Describe the role of family.
(|) T YA i AT HIfS )

Who is called Kinship 2 Explain the rural migration.

P.T.O.



AH-9036
[4]

(%) et & Froi & faa=a s
Discuss the causes of poverty.
(F) |ER 3y & yahR fafaa)
Write the types of cyber crime.
gue—a
(Section—B)
T : TAF THE et e wea &1 I i

10x4=40

Answer any one question from each Unit.
THE—1
(Unit—1)
3. W G W T fray fafay |
Write an essay on Ashram System.
Agar
(Or)
4. HH FT ¥ ? uRdE Sad ¥ w4 w1 Hew
A | |

What is Karma ? Explain the importance of Karma
in Indian life.

[5] AH-9036

(Unit—2)
WA F oo Fifm) e e q 7
Define  Family. Discuss the modern changes
occurred in Indian family.
Agar

(Or)

SIS SR = E 7 S EE G F U-a
ERIE

What is Jajmani System ? Explain the merits and

demerits of Jajmani System.
THE—3
(Unit—3)
WRA H TR F SR 99 GG H e

ifS |

Describe the causes and impact of urbanization in

India.

P.T.O.



[6] AH-9036
JHAAT
(Or)
8. WRA W FUHI H WI@ @ #E 2 T
FHIH &g e 1o |

What are the main problems of peasants in India ?

Give suggestions for its solution.
FHRE—4
(Unit—4)
9. WRTER ¥ 379 T §9ed & 2 fae=m sifsg |

What do you understand by corruption ? Discuss.
3{Lqdr
(Or)
10. ACF o AWH F1 © 7 THH THE HIOI
SATEAT HIfST |

What is Drugs Abuse ? Describe its main causes.

XX X X X

AH-9036 4,780
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AH-9028

B. Sc. (Home Science)/B. Sc. (Maths/Bio)/
B. Com./B. B. A./B. C. A. (Second Semester)
Generic Elective Course (HIGE-02) |

EXAMINATION, May-June, 2025

HISTORY

[Ancient Indian History (From
Gupta Age to 1206 A.D.)]

Time : Three Hours

Maximum Marks : 70
e ﬁqmw—wﬁa‘rw%lm‘a’@‘a’%
T4l Y3 & SR S|

There are two Sections in the given question

paper. Answer all the questions from Sections A
and B.

P.T. O,



1. wet fasey gf)

[2] AH-9028

Qug—3A
(Section—A)
TS ue

(Objective Type Questions)

10x1=10

Choose the correct option.

(i) TS HHES Y 9T oht o ¢

(1) TS 99| A
() =RrHa Y
(W) i< |

(%) AR A

The Gupta Empire was founded by :

(a)
(b)
(©)
(d)

Chandragupta I |
Ghatotkacha
Shrigupta

Kumargupta

[3] AH-9028

(i) eI fhEe e & wRa oy or 2

(iii)

(31) =< 9|
(F) <«
(|) =5 feef=
(]) TSI

Fahien came to India during the reign of :
(a) Chandragupta I

(b) Skandagupta

(c) Chandragupta II

(d) Samudragupta

T - <l &9 41 ¢
CHRILREIED

() TSHATHS

(9) AR

(3) o § | g

The form of the Gupta Empire was :
(a) Republican

(b) Monarchical

(c) Democratic
(d) None of the above

P.T.O.
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(iv) T[S HTeT 8 Y 1 gated SAfueRrt ol :

(1) S
(&) ARt
(9) Ty

() A

The Supreme Commander of the army during
the Gupta period was :

(a) Senapati

(b) Mahasenapati

(c) Emperor

(d) Baladhyaksha

FHieI fhd o9 Al JES TS o1 2

(37) A
(@)
(|) [Ued
CRLLT

[5] AH-9028

Karikala was a famous king of which dynasty ?
(a) Chola
(b) Chera
(c) Pandya
(d) Rashtrakut
(vi) TR S¥1 <1 Tefereh ARl e o «
(31) qerhieH fedr
(&) hifdaE

(§) JeThi¥H HoH
(%) sEfds

The most powerful ruler of the Chalukya

dynasty was :

(a) PulakeshinIl

(b) Kirtivarman

(c) Pulakeshin]

(d) Jaysingh

(vii) T 1 T oM T I

(37) FHEREEA
(&) TRadd
(W) ToaEA

(2) TEH



[6] AH-9028
[7] AH-9028

ot Ve () B T3 175 4. 3 e s v
(@) Prabhakarvardhana feet 2
(b) Narvardhana (1) WA AR
(¢) Harshvardhana (&) Hedd
(d) Rajyavardhana (®) fay
(viii) HeHE TSIt 3 WY B HieT T Fe STHAT (%) v A S
foran e 2 |
In 1175 A.D. on which place did Muhammad
(31) 1025 %. | Gori launch his first attack ?
() 1026 %. (a) Somnath temple
(b) Multan
(9) 1027 % ©  Sindh
(T) 1028 %. , | (d) None of the above

?
When did Mahmud Gaznavi attack the (x) HEHE TRI i Jog el g ol -

Somnath temple ? (31) 1206 %.
(@) 1025 A.D. | () 1207 %
1026 A.D. :

®) (9) 1209 %.
(c) 1027 A.D. | :

(%) 1210 %
(d) 1028 A.D.

P.T.O.
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[8] AH-9028

When did Muhhammad Gori die ?
(a) 1206 A.D.
(b) 1207 A.D.
(c) 1209 A.D.
(d) 1210 A.D.
Y T U9
(Short Answer Type Questions)

2. ot UE B A ST 100-100 Vi H SIS ¢
4x5=20

Answer all questions in about 100 words each :

() T FH A ? I gl FeEeIE AU
Hifed |

Who were the Guptas ? Describe their original

house.

(i) ‘TSI Tk HeM e o1 1" 9uid hifSd |

“Samudragupta was a great king.” Describe.
(iii) T[<TeRTET T T 1 FUF HIFST

Describe the golden age of Gupta period.
(iv) UCTIRIGI hell o1 GUIF hifid |

Describe the art during the Pallava period.

[9] AH-9028
(v) Fae 9 e SR % Fr fafe |
Write the causes of Arab invasion on Sindh.
gug—dg
(Section—B)
Ui U

(Descriptive Type Questions) .‘ﬁ .,_ A

G T THE Y FE UE WA A 4x10-40 =

Attempt any one questions from each Unit.
TEE—1
(Unit—1)
TRTEA ST JOe 31 0 i |
Describe the Gupta administration system.
AT
(Or)
TR e e fefd & o
hifell |

Describe the social and religious conditions of
Sangam period.

P.T.O.



T —2 4

(Unit—2) (Unit—4)
5. giaET W Suciferl F1 auid i 9. THIEAN i A ARH T ferege =i ifera

Describe the achievements of Harshavardhan. Describe Fahien’s travel to India.

Agqar
gt

(On)
10. TeHTel T T FRITEA 1 U HISC |

(Or)
6. TISTgEl & QISR S T 0 SHiTS |

. ) Discuss about military administration in Gupta
Describe the social life of the Rajputs.

FHE—3
(Unit—3)

7. WA HE § uRa B So-ge e % SR @ X X X X X
1Y el 1 FuH <hifod |

Describe the India’s relations with South-East Asia

period.

countries in ancient period..

g
(Or)

8. HEWE MY o STHAU & HROI hl =0 HifeTL |

Describe the causes of invasion of Muhammad AH-9028 1220

Ghori.
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AH-9029

B. Sc. (Maths./Bio.)/B. A./B. Com./B. B. A./
B. C. A. (Second Semester) |
Generic Elective Course (HOGE-02)
EXAMINATION, May-June, 2025
HOME SCIENCE |
(Extehsion Education)

Time : Three Hours
Maximum Marks : 70

Ate ;. gt gl & SIS
Attempt all questions.
| Yus—3H
' (Section—A)
1. Frefafed e wel & SRAMT :  10x1=10
Answer the following objective type questlons
() TefRme:
(37) el

P.T.O.



(ii)

[2] AH-9029

(=) famm

(=) < (&) 9@ ()

(7) svda # | 1 T

Home Science is a/an :

(@) Ar

(b) Science

(c) Both (a) and (b)

(d) None of the above

778 o finen & SREA €

(=7) =afw & watio fawr J #es FT

(@) TR GEafae WA Qe
Tt JH W& Tl

() Cfira w1 3fea sgar faar

(7) Sug wsft

The objectives of Home Science Education
are :
(@) To help in all-round development of

individual

(iii)

[3] AH-9029

(b) To provide knowledge related to
physiology and healthcare

(c) Teaching proper use of limited resources

(d) All of the above
TER Fehdl @ foaRuR Sl 8 =fey ?

(37) Fr=EmRt
() driforen
() wfgamwt
(7) SR

What should be the ideology of an extension
worker ?

(a) Communist
(b) Mythological
(c) Conservative

(d) Progressive

(iv) GrgeTfaes foerrg st fadiom @ :

(31) @-fAefxan g 1 ferepr@

(&) T S @ JXon wife 1 fereprE

(9) T HgEEE ROSTERd AT 6
faera

(%) Suga qeft

P.T.O.
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[4] AH-9029

The characteristic of community development

182

(a)
(b)

(©)

(d

Development of self-reliance attitude
Development of motivational power
from rural masses

Development of plan v%& on local
resources

All of the above

IREM fHio <51 e SRed 1§ ?
(37) IRER T ST HTET

() g gig 1 s s
(W) faar A

(8) 9l S T

What is the main objective of family

planning ?

(@) Separating the family

(b) Controlling the population growth
(c) Stopping marriage

(d) Increase migration

[5] AH-9029
(vi) e fafu s g e R E ?
(21) @it B WA A © |
() 3tfuer ¥ Aferer SRR & g J &1 ST
el B |
(§) B %D 7ol Hred |
(3) Haw ek afsa & |

What is the main advantage of lecture

method ?
~ (a) All students perform experiments.
(b) More information can be given in less

time.
(c) Student do not learn anything.

(d) Only the teacher is active.
| ?E.dwmmmm@msﬁaﬂﬁa&ﬁﬁ%m&

RS € ?

(31) §HF Selig FA & fag

(=) T a0 S ST T A T
fa

() ISTHH HH F P T

(3) o % = @ B f

P.T.O.




[6] AH-9029

(7] AH-9029

Why are teaching aids used in  Home (b) Making people between the age of 10-25
Science ? years literate

(2) To waste time (c) Making people between the age of 15-25
(b) To make the subject attractive and years literate

understandable (d) Making people between the age of 15-35

years literate

¢) To reduce the syllab . .
(c) yriabus (ix) T fnen =if, 2020 # e T WA

(d) To keep the students busy (31)5+3+4+3 p.__ ,
(viii)¥ig frem 1 31 § (F) 5+4+3+3
(31) 5-10 99 J W H AfFE H WeR (") 5+3+3+4
M (2) SYdaa | ¥ =+ Tl

The structure of education in the National

() 10-25 a9 =t & Hfaal
g FI HER Education Policy, 2020 is :
S (a) 5+3+4+3

(¥) 15-25 99 =t Y % Al B TR (b) 5+4+3+3
S (€) 5+3+3+4

(d) None of the above

() 15-35 o N g & =FRT B AER (0 TR ?
(1) TH HfhE

(%) T =R
(9) T Hed
(%) ST H YK T

EEIEl

Adult education means :

(@) Making people between the age of 5-10
years literate

P.T.O.
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[8] AH-9029 (9] AH-9029
What is extension ? (R) HfEm Freem & s =0 el 7 T
(@) A process HEw , T U 32341 o1 v i)
(b) Anidea What do you mean by family planning ?
(©) A reference Describe its importance, functions and

objectives.

(d) None of the above (1) @ T i e o S 2

2. TrAfafaa oy sl oo & SW SN ¢ Sx4=0 | What do you understand by FAO 2

Answer the following short answer type questions : S @.A
() Efaam T ? 35 &5 S GHIET (Section—B)
, M : TAF 3HE W Tl T W T S i

What is Home Science ? Explain its scope.

o . . . : x4=4()
(9) TR wRiwd & el ure ot @ gag | | 10
. Answer any one question from each Unit.
Ay |
1
Briefly state any five qualities of an extension (Unit—1)
worker. .
. . 3. foam Q T o § 2 fab= T & e
(%) R o § e SR w9 e E
| | TR ] T I
ol Sifs | L

What do you mean by Home Science ? Clanify ns
Describe the rol ienti i . . .
e of home scientists in relation with various subjects.

Community Development.

L
1
r



5.

[10] AH-9029

areral
(Or)
& fae wER faan @ 9 AW § ? 3o fagril

R RIS

What is meant by Home Science Extension

Education ? Throw light on its principles.

THE—2

(Unit—2)
qrRifas fawra o F®m oY ¥ 7 e 7
Fri <1 faga Foi S|

What is meant by Community Development ?

Describe its objectives and functions in detail.

ey
(Or)
FIT H w3 ¥ ? 3Wh Wed, FER W
GRomet <1 FUH o |

What is the meaning of unemployment ? Describe

its nature, types and consequences.

[11] AH-9029

JhE—3
(Unit—3)
7. WHR 1 fafv= faferdi &1 aof Fifsw | 37 =1 0
FIANE ?

Describe the various methods of extension. What
are its merits and demerits ?
3Tqdar

(Or)
g. g fren @0 ¥ 2 3EH A T Hed @ AU
IS |

What is Adult Education ? Describe its objectives

and importance.
THE—4
(Unit—4)
9. war foan = fagri i Fui HifC |

Describe the principles of extension education.
qar

(Or)
10. Si-qTE WA | 3T T T T ? woR Fr A

geh! Ag AdRE !
What do you understand by Audio-Visual aids ?
State their importance in extension work.
X X X X X
AH-9029 1,720

{
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AH-6512

B. Se. (Second Semester)
Discipline Specific Core Course (MASC-02)
EXAMINATION, May-June, 2025
MATHEMATICS
(Algebra)
Time : Three Hours

Maximum Marks 70

e : @ue 37’ 3Ifar ¥ 1 TEH 10 3% & A 10 WA

T T 5 7Y SO0 WA & ToEH e e 4 3
1 T A HA 20 T T | @S ‘F' H § AUAIHSD
g | Yol THE 1§ Q1 U9 § TS 50% STaR
freq § STUR W T HT T TS T
10 37 Tl & | Fel 3T 40 T

ini jective
Section-A is compulsory containing 10 obje

r
type question of 10 marks and 3 short answe

p.T.O.



[2]

AH-6512

type question, carrying 4 marks for each, total

20 marks. Scction-B is containing 8 descriptive

type questions, tw

o from each unit 50%, internal

choice. carrying 10 marks for cach, total of

40 marks.

Qus-H
(Section-A)

ey aeTs weE @ sw fafey @ 1+10=10

Answer the following objective type questions :

Write the trace of matrix A =

1 3 2]
3 0 -51|.
L2 5 OJ

6 2 2
@ 3k A=|{2 3 -l % 9 ™ TF 2
2 -1 3]
3 8 &, a1 e STETE W e 2
fre -2 2
If the Eigen values of A = 2 3 -l}|are
| 2 =legs
2 and 8, then what is the third Eigen value ?
1 3 2]
(i) e A=|-3 0 5| < 3" (Trace)
|2 5 0 |
SarEa |




3
[31 AH-6512

(i)  frdt grfan SToTE & stfarenafins R

(iv)

v)

ha § ?

\ 7 ( ) s ~ | A\ Q‘ y
Vhat are the possible characteristic roots of

an idempotent matrix ?
S R={(x,y):ix,yel,x-y=1y &

foq R =R 2w 2

What is the R™ for relation R = {(x,y):x,y
elLx-y=1}7?

Iqfe A= (1,23, 4 B ={1,2,3,4}
T R = {(x,y),x>‘y}$‘9ﬁﬂ IR IR

ST |
4B = {1,2,3, 4}, then

IfA={1,2,3,4} an |
d range for the relation

what is the domain an

R={(x,y), x>}



(Vi) a8 it sy e e 2 o+ 35,

fwhere the function f/: A > B,

T

(4] AH-6512

A={1,2,3},B={4,5, 6} and = [(1, &),

(2. 5). (3. 5)). then what kind of function is

1 ¥

Create a equation which roots are 2 + 3/, - 3.

(viii) GHH x* 4 x + | = 0 1 FEHA THFT

(ix)

(x)

fafaw

Write the reciprocal equation of equation

YHx+1=0.

oM TE ({1, 0, 07}, 1) § o 1 FE T
e ?

What is the order of  in multiplicative group
({1, 0,07},

oftiy st & e WA a * b=a*
f gferferd &, A o 1 SfaeH @R

b —ab

In the sel of rational numbers defined a

binary operation as follows :a*b=a+b-

ab, then what is the inverse of a ?



[5]

AH-6512
Y ST g
(Short Answer Type Questions)
2. ﬁrqfaﬁqamﬁﬁ%’aﬁml 4%5=2()
Answer the lollowing questions.
(6 2 2]
(g |2 3 H TG T faum
|2 -] 3]
A SR % = & &9 § = i
(6 -2 2]
Express the matrix |2 3 1| as the sum
2 -1 3

‘of symmetric and skew symmetric matrices.

(F) afg I 3w quifel 1 a9 & siR o8 ©
G 39 WehR IRAIG &, 756 xRy = ¥ =),

x,yel MR, | ToI T 1 75 |

If T is the set of non-zero integers and a
relation R is defined by xRy = ¥ =)', x,y €

I, then R is equivalence relation or not in 1.

P.T.O.



[6] AH-6513

(9) ¥g89q f(x) =2x> —4x% 4 x -2 a9

()

(?)

g =x" — x> — x — 2 1 HETH THEEF T
i |

Find the greatest common divisor of the
polynomial f(x) =2x> —4x* +x -2 and

g =x —x*—x-2.
i< g, b e G, A Tag HifST fov THHW ax =
b T ya = b, G H 3ge¥ &1 WA € |

If a, b € G, then prove that the equation

ax = b and ya = b, have unique solution in G.

greg@l 5 & o 3x° — 4x® +2x -2 W
x — 3 ¥ fafig T R W@ TR 3R
Qohe T i |

Find the .quotient and the reminder under

modulo 5 when 3x3 - 4x2 +2x —2 18

divided by x — 3.



e T T e W g Hf

3.

7
[71] AH-6512

Qug-o

(Scction-l))

1074=40()

.
Solve one question from each Unit.

ECIED |

e A =

1
4
3

1

 (Unit-)

2
1
~1
2

-1 3]
2 1
1 2
0 1

$ FEEE ®9 H

gfigfda ST iR aegg @t st T8 feaa I«

3
1

of the matrix.

normal form of matnx

the

2 -1 3]
] 2 1
-1 1 2
2 0 1

o

and find the rank and nullity



[8] AH-8512

4. frafafea oo & sifvenafms g = 35

ifsu qen sud wgrafea sAbvenaers wfay e
Hifsa

(-
|
{2

)

N WN

[ 2
A =11
R

Find the characteristic roots of the following matrix
and also find the corresponding characteristic

vector :

(Unit-IT)

5. goddl o shY IR0 Hfed TR ey qen 6

FHifs fo <1 goda wgea 1 A fafom S g A @
A4 € €|

Define equivalence classes with examples and also

prove that two equivalence classes are either

disjoint or identical.



[9] AH-651
6512

6. .
aﬁf.X»Yamg;yﬁzWW

EIGIEEL
%,ﬁfﬂ@ﬁﬁqﬁgo‘f:Xﬁz il
Theh! ST=2ee & o @ofy =5 og!
il 73
X > Y and g:Y — Z be one-one onto

mapping then prove that gof : X — 7 is also one-

one onto and (g o £y = o g

ECOES 11|

(Unit-IIN)

7. GHIETT 2%° +x% —Tx—6=0 W TA HI,

STEIfeR <1 Heil @1 3TaR 3 o T &

Solve the equation 2%° +x° —Tx — 6 =0 when the

difference of two roots is 3.

8. T gHiRu x3+6x2-—12x+32=0 1 HTeA
fafy 4 gt il |

Solve the cubic X+ 6x> —12x +32=0 by

Cardon’s method.



[10] AH-6512
gehe-1V
(Unit-1V)
9. fog wifsme for < SuGHEl w1 T Toh STHIE T ©
afs 3R Baar af I TH-gER | Sfdforee < |

Show that union of two subgroups is a subgroup if

and only if one is contained in the other.

10. Tog ST % SHE & THe 61 T U &
3Tla weh gRfa eTeel THE B

Prove that the set of cube root of unity is a finite
- abelian group with respect to multiplication.

X X X XX
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AH-6542

B. Sc. (Second Semester)

Discipline Specific Core Course (PHSC-02T)
EXAMINATION » May-June, 2025

PHYSICS
(Electricity and Magnetism)

Time : Three Hours

Maximum Marks - 70
e : Thal & = 7 ¥

Symbols have their usual meaning.
GUg—31 1x10=10
(Section—A)
1. (i) 7 T8I & STashe &Y & fafen |

Write the differential form of Gauss’s

Theorem.

P.T.O.




[2] AH-g542
(i) foe@ & E a1 fawaiR V & w1 deiy 3y
g ?

What is the relation between electric field E
and potential difference V ?

(i) Teafq wfeer 7 1 SRS 1 7 fafeg |
Write the divergence of Position Vector 7 .
(iv) W&l fompm & E & fog wet o fafea

Write the correct expression for conservative

electric field E.

(v) D,E @en P # Gey foifu)

Write the relation among D,E and P.

(vi) 1T & B = HE faf@u |

Write the unit of magnetic field B .

(vii) FfTgrerehia qe1e st geehvieldar e ardt
T ?

What 1s the permeability value of a
diamagnetic substance ?

(viii) B,H 9T M & &1 G99 Bl © ?

What is the relation among B, Hand M ?



s [3] AH-6542
(ix) TS Wew Fom | fogd w1 H9-w fem
SR Il ¥, S8 T o1 9w fafam )

Which law of electricity expresses the energy
conservation law ? Write the name of that
law.

(x) Tog@ gota o o1 sufassr fees foa
o ?

Who invented the Electro Magnetic Waves ?
2. Y I WA ¢ 4%5=20

Short Answer Type Questions :
(37) S T vaY fafe qen g Sl

State and prove Stokes' theorem ?
(9) L-R 9ftagr & YT gfig T SATEAT SIToC |
Expiain the growth of current in L-R circuit ?
(o e S & A W € 2 T
<ereRre IROT | WU oI =1 Frm fafEx !

What do you mean by Electro Magnetic
Induction ? Write the Lenz’s Law of Electro

Magnetic Induction ?



[4] l

AH_gs542

() ufiger w1 dfgeta o ofen o fug
Hifsy |

State and prove Ampere’s Circuital law,

W W o ol wmaned | fR wEeh 5
WS Q= arad 7 THE HEE
¥ 2

~
A4
S

What do you mean by Self Induction ? What
is meant by Self Inductance of a Coil ? What

1s its unit ?
Gug—«

(Section—DB)

T : FAh THE Y his Ueh U A it | 10x4=40
Attempt any one question from each unit.
gahte—I
~ (Unit—I)
3. 79 &l sEeeH YA fafen ue fag sifs| y

State and prove Gauss’s Divergence theorem.



BIEGI &t ) :ﬁﬁgm‘ |

Deduce the Intensity of electric field af 4 point near
A uniformly charged plane conductor with the help

of Gauss's theorem,
FHE—I]1
(Unit—I1)
5 wmR < gufe =3 IR &% form =i
HITH Bl el W R g vl 2
Obtain an expression for the capacity of a parallel

plate condenser ? How the capacity will be affected
if a dielectric medium is between the two

plates ?
HUFET STERH St L-C-R qiqer Sofises # =re
HIfog |

Explain the charging of condenser in L-C-R circuit

1S series.




[6] AH_g545

gahe—II1 ~

(Unit—IIT)

7. U ool qfiAiferent W arn genfed e o7 3aEs e
3 & febell farg o0 =1 AR AT Y g

g =S

Derive an expression for the magnetic fielg
produced at a point inside the axis of current

carrying solenoid ?

8. Ufdgrashig, Jghid M Tegesid et 3
SR TI HITT T TP & -4l gLl S|

Differentiate among diamagnetic, paramagnetic
and ferromagnetic substances and give - fwo

example of each.

TRE—IV
(Unit—IV)
9. I ol gHTeT ufaferrell & e ar= e

% fou =% wifm $iftve) g 9" &
- HRE G F & 2




4 [7] \
AH-6542)

Establish th
€ - |
betwe eXpression for the mutual inductance b
C two long ¢o-

factors affect jts value ?
10. frafq # ol H B
| I Tt @it # F e B @ fem
T
HHIET Ffa wifwe qen fag #f f
fFata & T & T w5 =

axial solenoids ? Which

Bl B

—

Deduce the wave equation for E and B in

electromagnetic wave in vacuum and show that in

vacuum the speed of propagation of wave is

1
C= :
VHo So
X X X X X

2,000
AH—6542



tee
“hay
......
.......
........

B. Se. (

- Second Somestcr)
Discipline Specif

¢ Core O

Ourse (Z()S(,‘-OZT)
EXAMINATION, M

(Cell Biology ang Histology)

Time - Three Hours

Maximum Marks - 70

T T/ aE @ www ISy
Answer all questions.
Yug—H
(Section—A)

1.  faeafafaqa aafss geai & swefsae :  10<1=10

— I Stions -
. " "‘[l\'C [\ l)( \luts

, : following objec ~
Answer the 1¢

(i) TESHAA RNA frmfor € @
(37) g

P.T.O.



(i1)

[2] - AH-6572

() Hgh |

(W) faerairard o

(]) gy i

Ribosomal RNA is actively synthesized in :
(a)  Ribosome

(b)  Nucleus

(¢) Nucleoplam

(d) Lysosome

frifafen 4 @ it faecdt 1 fee 7

Which one of the following is not a
constituent of cell membrane ?

(a) Cholesterol
(b) Phospholipids
(c) Glycolipids
(d) Proline



[3] AH-6572

(ii)) Trfafed # & ®9-m o s wifom

(iv)

(37) et fufa
() HiferEes
(9) R

(T) wrsdehifgan

Which of the following cell organelles is
absent in animal cell and present in plant

cell ?

(a) Cell Wall
(b) Cytoplésm
(c) Vacuoles

(d) Mitochondria
frefafiad § ¥ SH-T1 R HIRER

SHSITE HEA § ?

pP.T.O.



[4] AH-6572

W .‘ - 3 - .
hich of the following cell organelles is

called the power house of the cell 2
(0)  Nucleus
(b)  Lysosome
(¢)  Chloroplast
(d) Mitochondria
(v) T=fates | 92
1 4 59 wmem § Jafvemr o
R am e ?
() TS
(9) Az
() TAdfeH
(g) qaHe afgs
The chromosomes in which centromere is
situated close to one end are
(a) Acrocentric
(b) Metacentric
(c) Telocentric

(d) Submetacentric



- [5] AH-6572

(vi) VRIS F1 T 57 e o 2 % 2
(a1) b
(=) v
(=) e

() 39 H 9§ I &l

Structure of chromosome is clearly observed

during :

(a) Anaphase
(b) Metaphase

" (¢) Prophase
(d) None of the above

(vﬁ)?F@aa%ﬁzrnemiﬁnﬁnéﬁﬂ%':

(37) TEEE TS H1 T & QR
(&) TR fasrse 1 FeTHS & QR
() TEEE A FAES 5 <A

(2) mﬂjﬁﬁmﬁaﬁw@ﬁ%éﬁﬂ?

P.T.O.



[6] AH-6572

spindly apparatus is formed during the

.............. of mitosis.
" (a)  Telophase

(b)  Metaphase
(¢) Prophase
(d) Anaphase

(viii) BN Sufteq ST S
(31) WBC #
() gy o
(¥) RBC H

(%) fomn |

Haemoglobin is present in :
(a) WBC

(b) Thrombocytes

(¢) RBC

(d) Lymph



(7] AH-6572

(ix) AT a1 ) T §

(x)

(31) AWl

() U

(9) WiEHd

(]) nfwsh

Unit of Nervous system is :

(a) Nephron

(b) Neuron

(c) Spinal

(d) Brain

9T =g 1 HTATHE THTE ©

(37) HAShITHA

(d) RN

Functional unit of muscle fibre is :
(a) Micromere

(b) Sarcomere

(¢) Telomerc

(d) Topomere

P.T.O.



(8] AH-6572

, 2. T=ifa oy 3w wosi 5 I AT 0 5%4=20
/\l'IS\\‘Cl’ the follow in;z short answer typc (lll(.“\li()nﬁ .
() A el Fy gt geaen a w1 #
ERGIE
Write the chemical composition and function
of plasma membrane ?
>

(i) sEam g gierg feouf fafau )

Write a short note on lysosome.

(iii) TOr<EIfas =1 § ? S9! 9HeEt |

What is Apoptosis ? Define it.

(iv) T ol 991 T8 TEEfe §9e9 &1 Sqasu|

Write the chemical composition and structure

of blood.

(v) HIfEAs Td a0 (Sufey ug 3ifee) & si= =
- fafau

Write the difference between cartilage and

bones.

v o 150 v W B wEhn e



[9] |
AH-6572
Wog—q |

(Scciion--~~ll)
TS W fapady T U9 Sy i

W

47 10=4(

Answer g ’ i |
Y one question from cuch unit
TR |
(Unit—1)

() FF fooell o) fafore S = o
hifSIT |
xplain special structure of cell membrane.

3Ll

(Or)

oo Wi g W
uy fara fafad |

.4 structure  and
Vrite an  cssay on ultra structure ¢
Write ¢

n'sof i:ndoplasmic- cticulun

functio
P.T.0O.



[10] AH-6572
FHE—2
(Unit—2)
(i) AEA®Moga & safq ud el w5 oo

Hifeq |

Explain  the origin and functions of

Mitochondria. |

3T AT

(Or)
TEeE W frae fafen
Write an .essay on Ribosome.

TRE—3

(Unit—3)

(iii)qﬁmﬂwﬁa’m@a:rﬁww

IS |
Explain the organization and function of

nucleolus.




[11] AH-6572

AHudr

(Or)
TR et farsr @i avi I

Explain Mitosis cell division.
THhTe—4
(Unit—4)
(iv) T Tmior =) wfsran w frery fata!
Write an essay on haemopoesis.
3AAAT
(0n)
=T (aﬁﬁl ) ?ﬁ S & YR T AU
ifsl |

Explain the structure and types of neurons.

X X X X X

8,640
AH-6572

—
A 5
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AH-6272

B. Sc. (Second Semester)
Discipline Specific Core Course (BOSC-02T)
EXAMINATION » May-June, 2025

BOTANY
(Microbes and Thallophyta)
Time : Three Hours

~ Maximum Marks 70

AT ;. A 9 B SR ST

Answer all questions.

g —H
| (Section—A)

e . Frefafea aegss 39l % SR ST 10x1=10

Answer the following objective type questions.
1. TMV & $fEe @ :

(31) ®fcthed

P.T.O.



[2] AH‘.;

() IR
(9) MeAhR
() Iufaa o A e &

The Capsid of TMV is :
(a) Helical

(b) Rectangular

(¢) Icosahedral

(d) None of the above

faom] § 599 & -1 wew 7€l Sy 2
(31) YA

(=) fafus

(|) fererh Tfas
(]) HIErhitvgAl

Which of the following is not found in viruses ?
(a) Protein

(b) Lipid

(c) Nucleic acid

(d) Mitochondria



Heterocyst in cyanobacteria are specialized cells for :
(a) Photosynthesis |
(b) Nitrogen fixation
(¢) Reproduction
(d) Motility
4. Frefafan § 4 Sr-o S e fafy @ 2

(1) SrawIHT
(q) FHSRM
(®) g

(3) feart forave

P.T.O.



[4]
Which method is not a made of

recombination ?

(@) Transformation
(b) Transduction
(¢) Conjugation
(d) Binary fission

M-3R frad VA A T a1 & ?

(31) &RT

(9) uieaEgwmi-=T

() arsafar

(T) TEETdhUd

Agar-Agar is extracted from which algae ?
(a) Chara

(b) Polysiphonia

(c) Vaucheria

(d) Ectocarpus

AH—G‘ 72

bacterial



L 4

[5] AH-6272

6. Toru daret § Fewrer g yran s 2 -

7

(37) FAFE RN
(F) ar=aRan

(9) Sermfvaw
(T) afeateq

Which of the following algae has Siphonaceous

thallus ?

(@) Chlamydomonas

(b) Vaucheria

(c) Oedogonium

(d) Volvox

frafafad § @ SF-a1 fasmfer wa® § ?

(21)
(=) ufafafeam

(|) TWiRewa
() ISR

P.T.O.




o0

S

(6] AH-627,

(ollowing 18 an example of heteroth,

Which of the lic

fungus I
(a) Muco

(b) Penicillium

(¢) Agaricus

Scientific name of oyster mushroom is :
(a) Agaricus bisporous

(b)  Pleurotus ostreatus

(¢) Volvariella volvacea

(d) Lentinula edodes



Which algae is used as a space food ?

(@) Chara
(b) Spyrogyra
(¢) Chlorella

(d) Vaucheria
10. ﬁaﬁm%@ﬁﬁq—mﬁmwm% ?
(31) 3TR-3TR
(A1) A
(9) VATt dd

(T) A

P.T.Q,



>
S. i "
(8] AH-6272

Which algal product is used as @ biofuel ?
(a) Agar-Agar
(b) Carrageenan
(¢) Algal oil
(d) Cellulose
). Freafefen ww % wet A (g I T |

5x4=20

Answer the following questions (Short answers type).

(31) TMV'aﬁ'ﬁTﬂ?TETaﬂf:{aﬁﬁQI

Describe the structure of TMV.

(a) wHIMHmEli & MR W Sfremupeiil SRl e iRl
FHIT |
Classify the bacteria on the basis of Flagellums.

(|) Sasath & €9 H e W oo fafam )

Write a note on algae as a biofertilizer.

o (F) Hoshi § TR R feunit fafa )

Write a note on Parasexuality in Fungi.



J [9] AH-6272

(3) &R & TNl Ft T 1 ol ifsra )

Describe the structure of Globule of Chara.

QGug—d
(Section—B)
e : ToOF THE A UH WA g FRT 4x10=40
Attempt one question from each Unit. '
ThE—1

(UNIT—1)

3. SIS & SitaT-<sh 1 IO HifSIT |
Describe the life-cycle of Bacteriophage.
4. HEHSH & TE AN, W& W6 Y9[q @l

HHART |
Explain the main characters, structure and reproduction

of Mycoplasma.

P.T.O.



6.

Y

(10] AH—6272
THTE — 2
(UNIT=2)

sfamy i sy vd wuiai s fati ot FIFAT |
formation methods

Describe the conjugation and trans

of reproduction in Bacteria.
TR & fafere @ wd HIfER FEA F
Ui HIfST |

Describe the characteristic features and cell structure

of Cyanobacteria.
FhIE—3
(UNIT—3)

afcratad sl HLEAT Ta i Y o1 THSST |

Explain the structure and sexual reproduction of

Volvox.
Sl # fafv=1 werr & err el s ol FifT )

Describe the various types of Thallus organizations in

Algae.



@ [11]
ThRIS—4
(UNIT—4)
9. UaHIaT & Sfar-w w5 quiq Fifem |

Describe the life-cycle of Puccinia
10. @ﬁﬁmwﬁ@ﬁaﬁaﬁaﬁmwm\

Describe the cultivation techniques of edible

Mushroom.

XX X X X
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AH-6332

B. Sc. (Second Semester)

Discipline Specific Core Course (CHSC-02T)
EXAMINATION » May-June, 2025

CHEMISTRY
(Fundamental Chemistry-II)
Time : Three Hours

Maximum Marks : 70
e e e H 10 TGS v T 05 iy swi
T @ 1§ Wty ww e st
GUe ‘9’ U 8 qUAITR U ¥ 1 T ThE F O
9% & TS 9 0 ek gt e sifar ¥
Section-A is compulsory containing 10 objective
type questions and 5 short answer type questions.

All questions are compulsory.

P.T.O.



[2] AHt332
Section-B - is  containing 8 descriptive type
questions, two from cach unit with 50% internal
choice, carrying 10 marks for cach.
{ug-HA
(Section-A)
T Fesfafag Sgfashetdly wodt & 3w difsm
8
1210=10
ing objective type questions.
L IR snar-am foge & AIER o 3
Y T |

Answer the follow

(31) S OH™ e 27 &

() S el ve ) %t wof vy &

(F) ST OH™ 3T wiehr ey § |
(%) "SI 91 SR H:3 #Y yafy wey

On the basis of Bronsted-Lowry acid-base concept,

bases are the substance which :
(a) donate OH ion
(b)  have a tendency (o donate proton

(¢) accept OH ion

(d) have a tendency to accept proton



() Afaeinrgsy

(9) EDTA

() wfam

Compound used in Wilson diseases is :
(a) Desferrioxamine

(b)  Pencillamine

(c) EDTA

(d) Aspirin

frafafad § 9 -9 HEailtehd  STTasad

el & 7
() HrgFAUT
(a) A
(@) AT
() TrEFlle

pP.T.O.



L

[4] AH-6332

Which is most reactive cycloalkane ?
(a)  Cyclopentance

(b)  Cyclobutanc

(¢)  Cyclopropane

(d)  Cyclohexane

4. Tyafafes 8 @ $F-T1 afeds (TERA) 0
(Tewtsd) H fadNe s g ?
() Sl & KMNO,

(d) CCly ¥ geit BRy
(|) SHIHITI U RINES

() 95 HySO4

Which of the following reagents differentiates

between alkanes and alkynes ?

(a) Aqucous alkaline KMnOy

(b)  Bry dissolved in CCly

(¢) Ammoniacal cuprous chloride

(d) Conc. HQ_SO4



2

(5] AH-8332

®, I sua o A ¥

(31) 4n gAT
(|) on AT
(9) Sn AR
() 107 SR

Cyclopentadienyl anion is aromatic due to presence

of :

(a) 4mnelectron
(b) 6m electron
(c) 5Smelectron
(d) 10m electron

1,0 510 7 A A
(#) 3
(@) 6
(d) 9

(%) 4
p.T.O.



(6] AH-6u32

Degree of freedom of HyO molecule is :

(a) 3
(b)Y ©
(¢) 9
(d)y 4
7. TATE U HY IS ®

(37) @l
(§) A

(|) = qer !

(%) 39 H ¥ FIE &

Unit of viscosity co-efficient is :
(a) Poise
(b) Dyne
(c) Dyne cm’
(d) None of the above
g fadl fFed & God & IdRY 3H 2 : 43 F
S #, @ STk fHer st g
(3) 634
() 432
(9) 346
(Q) 643



¥ (7] AH-6332

In any crystal ratio of Weiss indices of the face is

2 .4 : 3, then Miller indices would be -

(a) 634

(b) 432

(¢) 340

(d) 043

9. A SR & fE@rE 23 w2 .

(37) W 9499

(9) A 94

(¥) fevsa yuE

(]) SHA 9491«

The visibility of bluish sky is a phenomenon of

(a) Stark effect
(b) Raman effect
(¢) Tyndall effect

(d) Zeeman effect

10. e o) Sufefa # Afwaun Sl 1 A WHET
(31) W B ©

(a) Gl ®
(q) ferR @@e

(7) o H A HE T

P.T.



[8] AH-6332<

In presence of catalyst the value of energy of
activation :

(a)  Deccereasces

(b) Increascs

(¢) Remains constant

(d) None of the above

g S U9
(Short Answer Type Questions)

e ;. Tfafad geat & S i 4x5=2

Answer the following questions.

1. 5o st # 3 arelt 9 wE sfufhand Semi
gfga faf@T |

Write three important reactions with example

occurring in liquid ammonia.

2. HEHAFIE 1 FEH F=1 % 2 W & FAHen Ll
& et Hoteh TeRanfafy Sifsm

What is Markownikoff rule ? Give the free radical

mechanism of chlorination of methane.



[9] AH-6332
ST T I H =R T A & 7

(U3

Prove that the effective volume of a real gas is four
times that of the molecules of the gas.

4. STEAFEE wiww fafeu g wfEam s
SR 1 FHEET

Write Arrhenius equation and explain the concept
of activation energy.

it e Foemi SR i SKredt Hied FHEAET !

()

Explain homogeneous and heterogeneous catalysis
with example.

Qus-d

(Section-B)
e : Wﬁé@@wgﬁml 10x4=40

Attempf any one question from each unit.

Classity acids and bases describing Lewis acid-
a
base theory-

p.T.O.



[10] AH-633£
2. W AW wg ol ae (HSAB) THSTT =
gfenfod wifsn qen god fafa= SEEET

fag= sifsu

Define Hard and Soft Acid Base (HSAB) theory

and discuss its different applications.
genTs-11
(Unit-1I)
3. W%Wﬁmﬁsﬁaﬁ@mﬁwaﬁa
IS |

Describe the Bayer’s strain theory and its

limitations.

4. TRFRS @ o9 1 HAd § ? hl Bl AN H
¥ 7 =9 fm & g0 379 Aifiehi =1 Wafefad +4
oA ?

What is Aromaticity 2 What is Huckle-rule ? How

will you explain the aromaticity of different

compounds with its help ?



= [11] AH-6332

gahTe-111
(Unit-111)

5. EAE @ enfva i & faww Frm ) faaee
HITTT | TH T AT 6T RN YA IS & ?

Discuss Maxwell’s law of distribution of molecular

velocities. What effect does temperature have on

this ?

6. Toea, fHfew o wd The HIRTRT 9 AT F
ey B 2 oW fafem el 1 gt 9o
HifS |

What do you mean by crystal, space lattice and unit
cells ? Describe Bravais space lattices with

diagram. .
ECIER AY
(Unit-1V)

7 Freed faeEd | = wHEd | ? T Wewu Tl
g YA a1 U hifST |

What do you mean by Colloidal solution. Explain

its various properties and application.

P.T.O.




AT ST - SYRTeT Y T =hifsr |

‘What do youy understand by a first order reaction 2

Derive the expression for the rate constant of a first

order reaction and calculate its unit and half-time

period.

X X X X X

AH-6332

-
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AH-6202

B. Sc. (Second Semester)
Ability Enhancement Course (AEC-03)
EXAMINATION, May-June, 20235
HINDI LANGUAGE
Time : Two Hours

Maximum Marks : 35

dte: @ue e & g w1 H ure sifd o S
To9 fEu T ¥ | g W9 W 1 3k Tifgd )

T w2 T U @Y Swig WA feu e §)

T T T 2 37 fafed §1

P.<140.



[ 2 ] ’.
AH-g20>

@U@‘a’ﬁmaﬁmﬁmmm%
qAEH TH1E O 2 &1 g1

?h

A UH 5 oy Aoy

© 1 WSS B FohU 110 Y & foqu g AE Y2 oy

ST | |
Qug—'ay’

1. R s & if S S (T o 1) Fi

[%5=5

() '9RA o’ i@ fFE W W oams
T ?

(ii) mmmﬁmﬁmmmm
€ ?

(iii) TR Gy & fRaI TPR BT E ?
C(iv) I S ST foRiy a7el Rl oeR Al § R
I FHEAl & ?

(v) Hhd fag o1 v forg e famn &

ST g 2



(3] |
AH-6202

@Ww-—ﬁ%ﬁfmmamlm
2 3% fMfgq ¥ . o

2.

275=10
(i) ‘=R '
% 3N ey e &1 Aferr 2wm o
?

(ii) ‘Hq%BTQFE{HQTﬁ'?‘éraaﬁgmréﬁ%mu

(iii) 9STH T % ? ST SYE waEy |

(iv)-ﬁﬁ‘-ﬂﬁﬂ'ﬁ@ﬁ@fﬂﬂﬁml
(W) aq%aﬁa’rww%?

gus—'a'

ﬁw;mmmﬁwm@mﬁﬁﬁl

4. e 1 S’ FEE & wl R fd € 2
W@wml

p.T.O.



9.

[4] AH-6202

THTE — 2

qurg ) GuEa gl g S C arA e LA I A LAR IV E AR

gifau|
areran

W@mwm%?%mﬁwmm
%?W@aﬁ—awaﬁw

THE—3
gmﬁm@wﬁw-@:ﬁﬂ% 2 H SETe GhL
=3 e & guEmE | i

GO
AR F SR H TS B TR HW T
s ST i TR ¥ WS 9 | SER
gifsra |

TR —4
‘faendt Sfrem # :

oy yaud' W 9w e
fafeT |




[5] AH-6202

arera
10'mmmaﬁqﬁmm3ﬁ¢$am:
fefen .
I TR Stom &1 Tl erest meft A ) 5 o6
& S STavaR At & 3 g oy v A
¥ TR el s g 9w
aw%ﬁ'\?ﬁrﬁﬁéﬁﬁmﬂq“ HTdl § | T
SR & e iR o fo w1 g f B9
ot TR T W @ ¥ e § T
FraesIs 1 feerfer o e ) 4 W A

<t 1 gKihl | SR TF SR WS 9 W@
Bt & @l 9 sUR 3SR, AFiRieh 9 Hahleih

forereh St & | TEieh] 1 e 36 91 H © fo e
qey § AR AR T e aftEd ST g1 9
=R e T EAA Hi5 FO H Heg I €, WA !

P.T.O.




[6] AH-6202

AT AL o e A ¥ e @
At Y e et T W @ e g
TG I A Bl § Hifer g ¥ arifed aE W
T W 3 +ff TS e ¥1 % w6 e A gE A
A STt € den Frownd Wi @ TR 9 o TEACR
I Sl ¥ |

X X X X X

AH-6202 10,570
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AH-5204

B. Com. (Second Semester)
Discipline Specific Core Course (COSC-04)
EXAMINATION, May-June, 2025

Paper Fourth
BUS_INESS ACCOUNTING
Time : Three Hours -

Maximum Marks : 70

e ; m‘a’%mﬁmeﬂﬁmﬁ%l

All questions in Section ‘A’ are compulsory.

Qus—H

(Section—A)
1. frefafen sgfe ued & s 10x1=10

Answer the following objective questions.

P.T.O.




[2] AH-5204

() wm (fafqu) frm 2014 & fEm-10 &

IUR R e H wawdi w1 sAfuehad
ge&n Ao

(31) 10

() 20
(") 50
() 100

According to Rule-10 of Company
(Miscellaneous) Rules 2014, the maximum

number of members in a partnership shall be :
(a) 10

(b) 20

(c) 50

(d) 100

Giy P fA TR WA

(31) A4

(a1) @ifa

(|) 34

(]) &y



(d)

Income

Profit

(iii) Wﬂmﬁmaaﬂaﬁ%;

Gaining Ratio means :

(a)
(b)
(c)

Old Ratio — New Ratio
New Ratio — Old Ratio
Old Ratio — Sacrificing Ratio

New Ratio — Sacrificing Ratio

(iv) o Ems :

(9) AHHEA Gidl
() ST A 4 TR

'®



(V)

[4] AH-5204 g

" Realisation Account is :

(a) Personal A/c
(b) Real Alc
(¢) Nominal Alc

(d) None of the above

et # & - v & foen w1 wd
- (30) e TR g |
() forelt v & ufem A

(9) = g1 faseq

(T) HEER & SATHNT U HA T

Which of the following is not the mode of

dissolution of the firm ?

(a) By mutual agreement

(b) On happening of an event
(c) Dissolution by court

(d) Retirement of a partner



(vi) Wmmﬁaﬁqm%m%
T Sl o )
(37) Sa @1 A 3 g ey &
() <9 Heherr ¥
(F) TR R gFar &

(2) et v g

In Hire Purchase system, before the payment

of last instalment, the purchaser can :
(a) Use the goods in proper condition
(b) Sell the goods
(c) Destroy the goods
- (d) Mortgage the goods
(vii) =Xl quﬁﬁwﬁaf@ﬁmwﬁﬁ’aﬁ



(6] AH-5204
Instalment purchase system is governed by :
(a) Hire Purchasc Act
(b)\ Instalment Payment Act
(c) Sale of Goods Act
(d) Properties Registratibn Act
(viii) TR SATaTfieR Sl gRI S St T
(31) Frafon @ '

(&) Y9-8 @l

(9) AF-FF Widl

() Sudaa |l

Non-trading institutions prepare :
- (a) Manufacturing Account
(b) Profit and Loss Account

(c) Income and Expenditure Account

(d) Allofthe above



(37) TS 4
(|) 3UR &y
(9) T fasra
() SR faswa

The closing debtors of vbranch will be included
in :

(a) Cash purchases

(b) Credit purchases

(c) Cash sales

(d) Credit sales

foT e S kU 9 HER I ®

TSI o1 STHR BT @ ¢

(37) ST ER

p.T.O.
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Joint  expenses  regarding advertisement
and bad debts are allocated on the basis
of :

(a) Cost basis

(b) Labour basis

(c) Cost of sales basis

(d) Net sales basis

frefefed oy Sa0d 93 & SN ¢ 5x4=20

Answer the following short answer'type questions :

(31) TF FH A J° T K> 3: 2 I H <l I
died gL AERR ©1 9 *H’ ﬁwa@maﬁﬁ
¥ p, ‘K> TE H H T AH-BIH G
SO 5 : 3 : 2 %1 H Yol & ®F H X 75,000
Qém%@ﬁwﬁf%m%zs,ooom
3| ayrevas gt giafeeal Sifse |



a\ d I \\ L . g

bet A7 - (9 ) . -}
ween *J°, ‘K’ and ‘H> will be 5:3:2.H
brin i .
gs ¥ 75,000 as Capital and % 25,000 for his

shar i .
re of goodwill. Pass necessary journal

entries.

(F) ®H & T oik aRer & fawe § # =w
CIE NI

State any‘ four differences between the

dissolution‘of a firm and dissolution of a
partnership.

of amalgamation-

-~

@ |

Write the objects



(=) fore % ggfa =1 feeand fafem )

Write the characteristics  of lnStalmem
Purchase system.

(9) FreAifera ==l & faus™ 1 SR = 2oy s
RO ST
OERETR!
| _(ii) I
(i) ST
(iv) famT
What will the basis for the allocation of

following expenses ? Give reason :
(1) Rent

(i) Depreciation

(ii1) Discount

(iv) Advertisement



[11
] AH-5204
Qug—z
(Scclion-~ll)
TAF T '
smﬁqmmﬂﬁ%azmﬁm 42 10=4()

Answer any one questions [rom cach unit

FRIE—1
(Unit—1)
3. MM iR foftm wer € <t 2 1 & o 3

TATY-BI Sfed €1 ST ST e T 15,000 @

% 10,000 & | Yedsh WMEER i Tsil W 5% =1 o=

Srar 1 fafts sl T 3,600 Afties o T S g,
SEEIMERE & Fraen 1 fodia @ 2024-25 3
Ffee 3 2 1,200 T fafd % 3,000 frepmet | foft
Hﬁéﬁ?éﬁm‘mamﬁmméﬁ%{émw

%s,ooogqnﬁﬁmﬁwﬁvﬁ%mwmm

p.T.O.
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[12]

7149 1 qrEH BT T

CRIEL
() et Yo sreerdt ®
(@) St goil Tl §

Nitin and Vipin are partners and share profits and

losses in the ratio of 2 : 1. Their capitals are

¥ 15,000 and X 10,000 respectively. 5% interest per
annum has been agreed to be calculated on the
capital of each partner and Vipin is to be allowed
an aﬁnual salary of ¥ 3,600 p.a. which has not been
withdrawn. During the financial year 2024-25 Nitin
withdrew ¥ 1,200 and Vipin '3,000. The profits
for the year to calculation of interests on capital but
after charging Vipin’s salary amounted to X 8,000.

A provision of 7%4% on this amount is to be made

in respect of commission to the manager. Show the
partner’s capital account :
(a) when capitals are fluctuating

(b) when capitals are fixed



do we do 1
revaluation of assets and liabilitjes at the

entry of a new partner.,

s

(Unit—2)
9 SR W & w9 # oEer ¥ siR emaf
FA-R fa9fSa 3@ §1 31 94, 2025 =
I 379l ®H & fawes 1 fofa foen | fawea 7
fafa @ 9 1 & aifedl g0 agel @ 9 WERn
LI SIREICIER ERE ‘

OB [ o
g9 F1 §ST @@ 70,000, WiE F IS

7 70.000. FER T =Te] 2Tt % 60,000, B T4

P.T.0.



(14 AH-5204 |

areq sreferal 260,000,

: TARALLY e 1t

spvfov! €
Y € 10,000 yorpefy renfeen & ferap, o1 T AT TR

i € 00,000, e #11E rrerrferdl B AT e

waufer € 45,0001 Srpart UE A e i At

ypard [ e € 50,000, TAHTEA AT Z 4,000 1

Ram and Rahim are partners in a firm and profit-

loss 1S distributed equally between them. They

decided to dissolve the firm on 31st March. 2023,

Prepare Recalisation account and Partners’ Capital

accounts on the basis of balances given below on
the date of dissolution :

Ram’s Account ¥ 70,000, Rahim’s capital account

Z 70.000, creditors and current liability I 60,000.
Total fixed assets ¥ 1.30,000, total current assets
Z 60,000, cash  10,000. Amount realised from sale
of fixed assets was ¥ 90,000 and amount realised
from current assets was ¥ 45,000. Final payment
made to creditors and current liabilities ¥ 30.000

Dissolution expenses ¥ 4,000.



6.

)A .
[15] AH-5204

T weRrt v & Wi afad et st |
RS & Ry ¥ 2 DO FEE A g
1 @i o s ¥ 2

What are the objects of conversion of a partnership
firm into a limited company ? What accounting
records is made in the books of purchasing

company ?
T
(Unit—3)
1 3T, 2022 1 BE@T A TH HEEHR SH HEH |

RO F9 S B STER W EREl | HIEER H

T T T 446,790 §1 WA X 1,20,000 TR
STTEY & TR % WA A R 1,20,000 =
S fredl § e 31 A 1 TR S R 5%
e 1 7 & e F A A T ¥R W
feo fore Ugfa & STER W 10% ok B R §

&g T S © |

P.T.O.
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SUR &y fafr ¥ it w6t qrasl 1 smewas W
whaftest sifsm |

Harshita purchased a motor car from Jain Motors
on Hire Purchasc method on | April, 2022, The
cash price being ¥ 4,46,790. % 1,20,000 was paid
on the signing of the contracf and the balance in
three annual installments of ¥ 1,20,000 each on
31st March every year. Interest charged at 5% per
annum. Depreciation was written off at the rate of

10% per annum on the fixed instalment method.

Give necessary entries in the books of Harshita by

Credit Purchase method.
ford am ggfa @ T s ® 2 fvua w3
Tgfd 3R forea ymam i & g o) adEu|

What is the meaning of the Instalment Payment
system ?  What is the difference between
Hire Purchase system and Instalment Payment

system ?



FeRTE—4

(Unit— -4)

AH-5204

ot e o) s et u R Y A
IR F § 31 T, 2025 Y HAG 79 F foro

iR faego wrd © :
-———"?’_‘ ‘_(ﬂr ‘Tﬂ' ‘%:[“' -
faarot

@ | ®© | ® | @
gRitE @hY 5,000 | 12,000 | 3,000 | 8,000
o 45,000 | 8,000 | 7,000 | 18,000 |
- |
Tand 48,000 21,000 | 9,500 | 2,000 {
f=m Y 12,000 | 14,000 | 2,000 | 4,500 |
|

e o e T 2,500, fafay =@ T 1,800, I 3t

¥10,500 1

=g afeTel ST S | En & 9R IO
IR IEIASIRIEASI a1, 39 W fawm F1 qEEe

IS%Wmﬁmaﬁﬁrﬂ%l
T wef R T -

@l TR i

mmﬁmwmmmaﬁu

p.T.O.
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"ATand *B* carry on their business as merchants in

four departments viz., *A*, ‘B, *C* and “D’. During

the year ending 31st March, 2025 period, the

requisite figure were as follows :

A B & D l

Particulars @ @) @) @) !\

Opening Stock | 5,000 | 12,000 | 3,000 | 8.000 |
Purchases 45,000 | 8,000 | 7,000 | 18,000
Sales 48,000 | 21,000 | 9,500 | 2.000
Closing Stock | 12,000 | 14,000 | 2,000 | 4.500

The expenses for the trading period which are to be

charged to each department in proportion to the

sales of that department were as follows -

Rent and Taxes ¥ 2,500, Sundry Expenses ¥ 1.800.
Salaries etc. 10,500.

In addition the manager of each department w

as

cntitled to a commission of 15% on the profit of his

department afier charging the foregoing expenses.

Prepare a Tabulated Ty

Account

department.

showing

the

final

result

of

ading and Profit and Loss

each




-~ [19] AH-5204
5 7

j0. T =AWRE e 4§ au @01 Avzd 3

qifa- A @ SR sm-eE @ f# s

qdigU |
What do you understand by a non-trading
institution ? What is the difference between

Receipts and Payments Account with Income and

Expenditure Account ?

X X X XX
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AH-5205

B. Com. (Second Semester)

Discipline Specific Core Course (COSC-05)
- EXAMINATION, May-June, 2025
Paper Fifth
BUSINESS MATHEMATICS
Time : Three Hours
Maximum Marks : 70

e : e ‘A @9 & gt ye & S it
Answer all the questions in Section A and B.
GUs—A
(Section—A)
1. 21T 3T qfaeRt § we fohed ot ifshd i :
1x10=10
Mention the right option in your answer book :
(i) dfaer Tfurd <kl <hel Sl ®
(31) HHH TIOTd

P.T.O.
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[2] AH-5205 X
() 7RI
() s

() Iudad 9l

Vedic Mathematics is called :

(a) Manas Mathcmatics’

(b) Arithmetic

(c) - Algebra

(d) All of the above

R +y=6TMx+2y =6, AWx Ay ™
M= 8l K

(31)0,6

() 3,0

(9) 0,3

(?) 2,2

If2x+y=06 and.}c + 2y = 6, then the value of
x and y are : |

(a) 0,6

(b) 3.0

(c) 0,3

(d) 2,2



[3]
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(1) 959G s 99 oy Amifiye

B YT oy
arafy |t ¥ .

(31) a4l F} &) 1)
(&) anl &Y ansf)
(¥) a8t &t us e

(%) 99 &1 ¥R T+

If compound interest is compounded quarterly

then the time period becomes :
(a) Twice of the years

(b) Half of the years
(¢) One fourth of the years
(d) Four times of the years

(iv) TR 0.003529 H UM &
(#A) 3

(9) 2

P.T.O.



(V)

%)

[4] AH-5205
Characteristic in log 0.003529 is :
(a) 3
(b) 2
(¢) 3
(d) 2
21 Tl w1 sived 21 ¥ TH e SET

o 2 QSIS e G R

(31) 21
() 22
(|) 42
() 43

The average of 21 figures is 21. On adding
one figure the average becomes 22, then that

number is :
(a) 21
(b)y 22
(c) 42
(d) 43



“0
V-

' [5] AH-5205
(vi) afs forslt W w61 30%, 90 &, & o dem ¥ -
(1) 3
(&) 27
(9) 270
() 300

If 30% of a number is 90, then the number is :
(@) 3
(b) 27
(¢) 270
(d) 300
(vii) TSIE A T 50,000 T A SUR =11 W 5%

g R e 2-;-% TRy FHRE
frreTl & | 3T TR © -
(31)%3,750
(d) T 3,000
(9) T 1,250
(%) 3375

P.T.O.




Q

[6] AH-5205
Rajesh sold goods worth ¥ 50,000 on credit.
He gets 5% general commission and 2]5%
del-credere commission. His remuneration is
(a) < 3.750
(b) ¥ 3,000
S (e) 1,250
(d 375 .
(viii)SES T 0 HiHE & 25% + 20% + 10% <+

YR W g a1l LB ¢

(3) 65%
() 55%
(9) 64%
(3) 46%

The equivalent discount rates on the basis of

three successive discounts 25% + 20% + 10%

IS :

(a) 65%
(b) 55%
(c) 64%

(d) 46%



(x)

AH-5205

(V) 3 T + a1y whiow
() A 9 — iy
Selling price is equal to :
(a) Cost Price + Loss %

(b) Cost Price + Loss |

(c) Cost Price + Profit %

| (d) Cost Price — Profit

Teh SAfkd 7 Teh WA T 660 H =FhT 20%
wumlmwm: '

(3) T 550

(a) T 528

(|) X440

(T) %404
P.T.O.



[8] AH-5205 Y

A man sold a radio for T 660, gaining 20%.
The purchase price was :

(a) R 550

(b) T 528
(¢) R 440
(d) T 404
2. [l YTl B SR ST | YAF WA 4 HAF F F
(Y I 99H) : ‘ 4%5=2()

Attempt all questions. Each question carries

4 marks. (Short answer type questions) i

(31) g3 SERfaATH 1 GHH a9 | 56 x 82
&1 I F1d IS |

Find the value of 56 x 82 by the general
method of the formula vertically and cross-

wise.

() FAYT F F1 SR © ?

What is meant by Principal ?
(9) 3TUM T& GHIUT & HEg 37aT Fargy |

Distinguish between the Ratio and Proportion.



v
[9]

(%) T S 4

What

AH-5205
T g

do yoy

Del—credere Commission.

s —g
(Section—B)
e mmﬁaﬁéwmwmlmm
10 3T% FH1 ¥ | Loedmt

Attempt any one question from each unit. Each

question carries 10 marks.

ECIESS |

(Unit—I)
3. (31) g Sedfqdrear #1 snER fafy § 991 x 99
&1 A AT hifod |

Find the value of 991 x 99 by the base method

of the formula vertically and crosswise.

P.T.O.
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() 3-SR fafs A 404 * 398 F WM g

S |
Find the valuc ol 404 » 398 by the sub-bage

method.

Al
(Or)
Freferfiaa Jmoa Gl H1 GO 6§ 7
HIFIT |
2x + 5y =13
2x+3y=4
Solve the foHowing simultaneous equations by

cross multiplication method :

2x+5y=13

(Unit—II)
4. (i) WURY A Y fHE e § g g 10 99 A
ST & ST ?

At what rate percent simple interest a sum

will double itself in 10 years ?



[11]
“ AH-5205
() T3
350 T 49, Fiftfa; A 11 e -
k- TY <R ¥ gfg
TSI s

- ) S

)
i

YCArs () 4% p.A,
STerar
(Or)

TS WU H1 FART a7 Frapiferm

438.5x0.0342
47.65 +4.76

Evaluate using log tables :

438.5x0.0342
47.65 +4.76

geRTE—II1

(Unit—II1)

(i) <1 GEnei el U 11 .9 ¥ gfe 31 gl
T A 300 @, dl TeEnd s I
Find the two numbers which are ih 11 :9 ratio
and their sum 1s 320.

pP.T.O.
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(i) BR w1 e U M h Al w1 e
Bl 5 e ¥ @ yew 2 40,000 2,

7 B2 €N HT Yo Harsd |

The price of a diamond 'varics directly with

the square of its weight. If the price of a
diamond weighing 5 carat is ¥ 40,000, find
the price of another diamond weighting

7 carat.

(Or)
fordl qhen § 53% o st § iR 43% fe<t
B B T 1 Ay i iR e T 18% O Bl @

@ < fawal § fra gfaea o S e ?

i g
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In an examin

ation 530, students failed in English
and 439 lailed ip Hindj,

I the percentage  of

both the subjects.

THRE—IV
(Unit—IV)
(i) T HISR 1 /oA N W 8% e fean st

Tl o8 & ot H wHivH FEn & @ WY
'% 4,80,000 &, W HISRK 1 W HHLE h
T[T shifeIT |

A manager is entitled at 8% commission on
m |
ission
tal profit. If total profit before commis
tota :

'« 7 4.,80,000, then find the managers
IS ° ’ s

commission.

P.T.O.
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q&ash fashar <0 T 5,950 1 256 | it e

BT AN ufa g v A e

ST

EEsha Prakashan, Raipur supplied 28 copies of
Unnat Lekhakarma (Printed price per book
I 250) for T 5,950 to a bookseller of

Jagdalpur. Find the rate of trade discount and

the net invoice price per book.

AT
(Or)

T YR A Th T i 2,000 el 2 24,000 |
S| g 500 St g faummeed H A <@ T

o For T TR 25% AR e T 24 S
1 qﬁgwﬁ%mﬁ%m%lsﬂwa%mﬁuﬁﬁ
me%laﬁwmm%}mozs%

g1 feera @y 91 & JaR |



AH-5205

t ok at the
COst price ¥ »
price ¥ 24.000. He sends 500 copies to heads

of the department froe ¢
department free of cogt. He gives to the seller
0 -
25% commission on the market price and one copy

free for each 24 copies sold. In this way, all the

copies are exhausted. If the mark price on the book

1s ¥ 30.25, find his gain or loss percent.

X X X X X

AH-5205
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AH-5206

B. Com. (Second Semester)
Discipline Specific Core Course (COSC-06)
EXAMIN ATION, May-June, 2025

Paper Sixth
BUSINESS ENVIRONMENT

Time : Three Hours

Maximum Marks : 70

e : @E—3H H 10 AFEE TS yoa &1 yaw
¥ 1 3 1 § 3 5 Y ST YA & S T
4 37F F T

WUE—d H § Y IUUT U §| To® THE H
2 9o & T § Tl = o1 S S © 1 Uk
I3 10 3F F T

P.T.O.
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Section—A is compulsory containing 10
objective type questions of 10 marks and 5 short
answer type questions, carrying 4 marks for each,
total of 20 marks.

Section—B is containing 8 descriptive type
questions two from each unit with 50% internal
choice, carrying 10 marks for each, total of

40 marks.

- Gugs—3A
(Section—A)

1. T R T S TR % St A ¢ 1x10=10

Answer the following objective type questions :

(i) g TSI ST ¥ S W Y e Wqe
S Y T S T 2
(1) THIHDT
() SR
(|) ot gfaee
(T) THIRRa] g
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Which market structure is most likely to have
a high degrece ol price competition ?
(a)  Monopoly
(b) Oligopoly

(¢) Perfect competition

(d) Monopolistic competition

(ii) SR & foi ged eyl U HE-H T 7
CHEERIEIEE
(&) Sifigd 3o i &Hdl

(W) o<t gt

(3) 3= fram

What is the most important quality for a

businessman ?

(a) T echnical knowledge

(b) Risk appelite
(c) Big Capital

(d) High Education
o T O.



(4] AH-52086

(i) =T F anfels uatarn a0 ywfag a9 §

(iv)

(31) anfols A &1
(|) anfeds Hifa

(Q) anfeds guneh

(R) Iuad as

........ affect the economic environment of

business.

(a) Level of economic development

(b) Economic Policy

(c) Economic system

(d) All of the above

i T A ghg w1 Ak 1 W 3UE T

(31) e 1 i

(=) Fargfd e

(7)) fasrma HrEl W aTaRashal ¥ s <
Fh

(7) I | A I TR
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The main measure to control price rise in
India is :
(2) Increase in production
(b) Control over money supply
(¢) By overspending on development work
(d) None of the above

(V) SRA H ST ¥ S Bl
(37) ¢ Tt iR fafred & sAfaa =
(F) SHMAT

(9) TSHIfdeh YSEER & hRU

(T) ST |l

Black money is generated in India by :

(a) Existence of multiple control and

regulations
(b) High tax rate
(c) Political corruption

(d) All of the above
(vi) ﬁ%vﬁiﬁﬁqﬁnfaﬁmm% :

(31) faceit qerd
(&) AR R
() faceh faa
(3) S |l

P.T.O.
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In Foreign capital included
(a) loreign aid
(b) Trade credit

(¢) Forcign investment

(d)  All of the above
(vii) SR o srar Afa @ Ser = AE A
(37) 1990 |
(F) 1991 9
(|) 1992 9

(€) 1993 ¥

Trade policy liberalized in India :
(a) since 1990
(b) since 1991
(c) since 1992
(d) since 1993

(viii) famgientor & &I ¢ .
(21) FgreRifa # Hl ATl
() el A W wH Al
(|) whren 9= frafa gm

(3) Iuga qeft



(ix)

(7] AH-5206

Because of demonetization :

(a) Inflation will come down

(b)  Aggregate demand will decrease
(¢) Black money will be controlled

(d) All of the above

fave SR WS (W.T.0.) &l Qal FHe

g3l ¢

(37) FawR 2020 |

() fe@wer 2020 #

() e 2021 H

(=) s # & T

Doha  conference  of World
Organization__héld in:

(a) November 2020

(b) December 2020

(c) November 2021

(d) Noneof the above

Trade

P.T.O.
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[8]

(x) fawa S o w@ SweA ©
(a1) yeAfdepr @ e For <
(&) fafma g # feagd <@ T
(W) arrisda wiifger @@ 1 =g
(]) Iugdart # A 1 el
The main objective of World Bank is :
(a) Grant of loans for redevelopment

(b) Maintaining stability in exchange rates

(c) Enhancing  international monetary

co-operation

(d) None of the above
2. @ & gEAl % I SN (Y S uw9A)

4%5=20

Answer the following questions (Short answer type
questions) :

(1) g TATR H1 WHISTF e =1 § 2

What is the social significance of business
environment ?

(F) SWOT fageiuu a1 & 2

What is SWOT Analysis ?



[9]
(&) q ThIfT o1 & 5 AH-5206

What is Inflation 9

(—(«r) \'SQIJ:\IQ‘?(UT qY ﬁ_ru;n]ﬁ ﬁ'—[f@‘ll

Write a note on Liberalization

() TIve =R W = Y 2
What is World Trade Organization ?
gus—d
(Section—B)
AT : YA THIE W Ueh Y T Hhiod | 10x4=40
Attempt any one question.from each Unit.
gers—I

(Unit——l)

3. SqEgfas gFiaeer | M = IuEa ¥ 7 WA
AT Ih Wﬁmﬁwﬁml

. e t)
What do you mean by Business Environment

- . . "
Explain the nature of Indian Business Environmen

pP.T.O.
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| Define “Business Scope™ and discuss its main

dimensions.

gas—I1

(Unit—II)
e 3 T o & YEE A 9 RO P ? T
syetearee & TS ©F <1 1 UE TS W ?

What are the sources and causes of black money in

India 2 What is the effect of black money on our

economy ?

6. 9 H anfder fowm 3R USTR 3= T H e,

oy 3R 7o SOl (T.UH.THE.) & Had T =94
HIfTT |

Discuss the significance of Micro, Small and
Medium Enterprises (MSMEs) in fostering
2 : | .

conomic development and employment generation

In a country.,



[11)
FHRE—I11

(Unit—
7. T=d S —Ii
3 3
BT 39 shea wra e 4, ferm f2 -
FEE 23 ) SEEREIEe!

AH-5206

are the varj
Bank O”ndl.c various method adopted by Rese
: 1a (o control credit ? Explain o
8. THSiehtwl, e '
fogaendiror =
STIURVIE R § 2 9Ra ' i
? . :

| ¥ 2 w3 o wed # e

Wha p
s t y ar(:: the concepts of Privatization,
eralization and Globalization ? Evaluate with

special reference of India.

THRE—IV

(Unit—IV)
aﬂfﬁ&rmﬁﬁ%&fﬁwﬁs@wﬁm.
HIfST |

Discuss the role of Foreign Trade in Economic

Development.
fogq o & R @ 1t 1 U IS

10.
tions of World

Describe the objectives and func

Bank.

X X X X X

AH-52006
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B. Com. (Second Se

Ability Enhancement Course (COAEC—OZ)

EXAMINATION » May-June, 2025

ENGLISH LANGUAGE
Time : Ty Hours
Maximum Marks - 35

Note : Both Sections as directed.

Section—A

e
.

Answer the following objective type questions :

5x1=5
(i) The author’s mother had completed her

education up to which level ?

(a) 7th standard

P.T.O.
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(b) 10th standard

(¢) 12th standard

(d) Graduate

Which sweet did the grandchildren use to buy

for the old man ?

(a) Rabdi

(b) Jalebi

~ (¢) Kheer

(d) Halwa

Rabindranath Tagore won the Nobel Prize for

literature in the year :

(a) 1912
(b) 1913
(c) 1914

d) 1915




[3] AH-5292
(iv)  Which agricultural implement was the reaper

using in ‘The Solitary Reaper® ?
(@) Spade

(b) Thresher

(¢) Plough

(d) Sickle

(v) Rabindranath Tagore was born in which

year ?

(a) 1861
(b) 1862 -
(©) 1.86.5-
(d) 1868

2. Answer the following short answer type questions
in 3-4 sentences, 40-50 words : 5x2=10
(a) How did Baa earn the title “madly in love

with her husband” ?

P.T.O.
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(b) “This is how great doctors treat their fatherg »

What did Mr. Verma mean by this comment 9

(¢) Why do you think Phatik’s mother readily
agree to her brother’s proposal of taking
Phatik with him ?

(d) Discuss Wordsworth’s love for Nature as

depicted in the poem “The Solitary Reaper”.

 (e) Discuss the imagery used in the poem

“Stopping by Woods on a Snow Evening”.
Section—B

Note : Attempt any one question from each Unit in
about 100-150 words. - 4x5=20

Unit—I

3. Why did the author say “Baa remains to stay at the
centre of the family™ ?

Or
4. How did Mr. Verma try and use grand children for

getting sweets ?
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Unit—II

What do you understand by the last words
of the story “The Home Coming” spoken
by Phatik, “Mother, the holidays have

come” ?

Or
Explain the» beauty of the reaper’s song as
discussed by Wordswovrthv in “The Solitary
Reaper”.

Unit—III

What does “lovely dark and deep” 'suggest in the
poem “Stopping by Woods on a Snowy Evening”
by Robert Frost ? |

Or
What is the theme of the poem “Stopping by

Woods on a Snowy Evening” ?

P.T.O.
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Unit—IV

9. Discuss the irony in the title of the story <A

Devoted Son’.
Or

10. Describe the scene at the hospital the night the

author’s father died in “Baa-My Mother—A Person-
A Woman”,

XXX X X

AH-S&§20) F T



